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Lecture 8

Adjectives
Ldagll @l jlall 5 cliall b~
Adjectives:
Adjectives are words which we use to describe people, things, events... etc.
ralial)
a5 Lt (i) Caia o Lot il (e 5 ke A
eAdjectives can be divided into two groups:
1. Attributive Adjectives

Attributive adjectives appear before the noun.

e.g. Thisisanimportant lesson.
2. Predicative Adjectives
Predicative adjectives appear after the noun, in the predicate.
e.g. Thislessonis important.
DO g ) Clial) apud Uiy
4diaill wlaall 6f Attributive Adjectives -)
4aS 6l 5l 3l Gliall 6l Predicative Adjectives -Y
; Adiadl) cildall 1 Jg¥) £ i) -
. ewy‘ Ji eda [CLIS)
(pre-modifier ) L8 Jase S au¥1 U8 L4l s g 5l 138 Jaa e
(This is an important lesson): Juall laa i
44a 4 > Important
N /! > Lesson
. O30S LS 4panl 4 sena (o8 9 (NP) 4xesd 3ke o2 > an important lesson

Attributive Adjective * important 13 ¢ lesson s/l 8 el important 4alS of Bl

D Aas el o Balall cliiall 1 ALY £ ol ¥

dels leclause sentences ) s siad of qaag ddagadl Jaall U S35 (2t -Predicate) J) s delll ge ¢aaai US Laxie |5 S35 13)-

.l s Predicate 5 a5

(Predicate J b ¢85 daall o3 f (51) Al 22y sl Predicative Adjective J) o) Jsis Glhiall 134 (e 131 -

a.allia.n a. <8 ©
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(This lesson is important) ; Jaall 8
This lesson < (NP) daaw¥! 3 jlall o Jaa3ls
(NP) au¥! s lesson s
(Predicate) ! & < sela(important) 4l 13 «(js) 435181 Jab 22y 5 (lesson) as¥! 22 & jeds (important) daall (<15
This lesson < s aleall s3a & Jeldll 13)
is important < s Predicate - s

Predicative Adjective - & s 1l « Predicate J (& < ek ddall

eMany adjectives can be used both attributively and predicatively, e.g. the adjective “important”
in the two previous examples.

| 5ad000 () oSy laall (e KII*
lee 4085 Sf saiss — predicatively S 5 4 - attributively<
predicatively=< Al 5,65 attributively-S 5,6 Jelsi 8 ¢ cpiibul) (il 3 “important” ddall Jad Jis

eSome adjectives can only be used attributively.

e.g. main, principal, chief
- attributively S Jas 233503 o (K4 claal) (any 5
predicate 4 3 (N) aw¥) J8 jelss Joi (-

Ladd oY) Ji edas claall 228 (main, principal, chief) :Jbe
» Some other adjectives can only be used predicatively.
e.g. afraid, asleep
: predicatively < ha a3 o (Sa 5 AY) Gliall ans *
e B el o eiSa Y s predicate I g b anY) s el Ll
( afraid, asleep ) : J&s
predicate J (& L au¥) aey jeds clisall oda-

The man is afraid : Js&s-

My brother is asleep
Asleep my brother here : Jsll W€y ¥ oS 5

Afraid the man is here
(4S50 5 swdl): predicatively ) oo siSall Llld dda galee

pSelusizly 5> (an sl a) -~ L) & s oS predicatively ) 2 Slaall o 1shaY @ d s
LSliall 8 cpe gl G il

a.allia.n a. <8 ©
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» Adjectives used only predicatively tend to refer to a temporary condition rather than a permanent
characteristic. Look at the following adjectives referring to health in the examples below:

e.g. 1.The old man is well today.

In example 1, “well” is a predicative adjective that shows a temporary condition.

e Yy (435 4lls - temporary condition) Y 5,4 e predicatively ) L axiiu cilaall*
.( &l Apals -permanent characteristic)

:(permanent) s (temporary) cm G (s =5
5_wal oal & 5 < Temporary
(lasting — 4«ils) 5alisk s & 5 < Permanent
e b ¥ 4say > (The old man is well today) :J%
(483 alls - temporary condition) le 2523 2 5 predicative adjective < well 4l

B s Al glal (B 5 G pe 058 8 L) (a8 ¢ lld aay Jumdl dsasy j25 35 (The old man) Jsaall da ) i3
5 ee Anaa B (55

Onl) & S 4 (e e (55 3 5 (i se-temporary) 4 x 138 ¢ The old man is well today : Jsi Leie-
) asall (8 (e S8

Compare example 1 to the next example, where the adjective “healthy” refers to a permanent characteristic.

.(&<ls s -permanent characteristic) I 2 “healthy” 4alS of cua ¢ ¥ Jadl Y Jlall o )& oY)

e.g. 2.Heisavery healthy old man.
The old man is healthy.

.(&ailr ipals -permanent characteristic) 4> He is a very healthy old man-
0585 ol " healthy" Aduall s3] (e 13 ¢ ya L Tl 5 3 3lien Aaeay 5 gaall Ja )l 13a-
(44t 44a - Attributive Adjective 5 s2ius 44a - predicative adjective)

.( %2 Luals -permanent characteristic) e 2523
« [n a few cases the meaning of the adjectives changes according to its position in the clause.
e.g. Ahmed was late. (Ahmed did not come on time)

The late Ahmed Al-Ali lived here. (Ahmed Al-Ali, who is now dead)

.. clause I 8 Ly (bl ety Aall el allE e 4
) amy Ly seds e Caline ae Wb () oS au) U Adiall Cyeda 131 1Y) -
Ahmed was late :Jb«

Shapally cd gl el ol ses) of & Aleal) oda L (late) 4alS ine

Aleall 028 & 4 predicative adjective (late)-

a.allia.n a. <y ©
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The late Ahmed Al-Ali lived here. : Ml Jéall & LS " Attributive Adjective" s & U 38 (Jate) dalS-

N < Ahmed
NP 4 5 4wul 4c sense < The late Ahmed Al-Ali
(N) a=¥) J8 @iyl 5 Attributive Adjective < late
Sl el & <l Ahmed Al-Ali Of s Wlias < here
Sl cd gl 4 Cue adh 8 > The late Ahmed Al-Ali

Attributively S lgexiini 5 Ll Lavie (ate ) 2alS] iy Jaal) 131

;54 (Ahmed was late) (4sY) dlead) Jixa i 33 Attributively ( late ) 4alS alasin) WSy addall-

The late man fined be arrived

doas 3 alid) da ) of s o8 oS0 " Attributively” Wil @l au¥) J8 @ seda (ate ) 4alS of Jasdl dleall o2a 8
CenY) Jd Attributively S Lasé (late) AalS padiiid e 28 L faaf ol J 8l l_'mj 1) S,
(late) 4alS pasins o @iy sanall i gl & ol ol sl b il s )l 13acdmaa sl auny iy Saall
(late) 4l plasivd Wli€a < il 8 Gadd b Il 25 Lexie (Slepredicatively sl Attributively <

L& Attributively <

Exercise.

Decide whether the underlined adjective can be used only attributively, only predicatively or

both.
a. only attributively b. only predicatively c. both
1. He is a smart student.
Ui a23 ¢ The student is smart < J & WiSay Ja
predicatively sl Attributively S leslsaiul (Seall 0 smart 4 13)
c.both s lsall

2. The child is a sleep.

LSy Dld ¢ predicate il ‘_;‘u‘i\ 2 Y sedall LSy Y L“;"J\ Laaddl Glaall e » asleep ALY Qi 058X WS

a.allia.n a. <8 ©

Jal
The asleep child is awake now
predicatively s sY4 i predicate ) 3 ) 22355 Y (asleep) 3K 13
b. only predicatively s i sall 13}

3. One of the main causes of lung cancer is smoking.

(causes) aw¥) Ji <if (main) 4l

) J8 Gels 5 Aaall <main
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~=¥) < causes
:Sull i WS ¢ " predicatively” 36 o) oSer da oS5 ¢« " Attributively” ela (main) 4l
The cause main of lung cancer is smoking
. Attributively ki G (main) 4 13 ¢ WiSay ¥ Y
a. only attributively s msaall Gl sl

4. Are you afraid of the dark?

d\_}u‘;@cﬁ‘)ﬂ‘ 0l uA‘).\;‘\ \_5;_,.:
15 (i -statement) ) 4l sss o caag Ui
You are afraid of the dark

SAttributively Y Wliss3 WiSe Ja cpredicate » 13 (are) 2= predicate ) & Cels afraid 4l of Ladl
b. only predicatively s <l sl 13 ¢ (afraid) oaball o3 (e 4l 3 jall 4gnd o8 WS Y. Y

5. This runner is fast.
He is a faster runner: J8ll Wi
The fast runner is here
Attributively s predicatively < (fast) &S alaaial (Saall e 13

c.both s wleall 13)

Adjective Phrases

Adjective Phrases:
Adjective phrases are composed of an adjective (which functions as the head of the phrase),

a modifier (mostly an adverb), and a complement.

2 Ak gl @ ld)
1 el Ada ) 5 5lall

4l - complement =Y <k 585 aline > i - modifier =Y 5 kel Gl S Jasd S 5 > 4dia - adjective =)

1 sl Al il )
3okl Gl o ddall o3a Adyda 55 Jad daal) o (g giad 36 - )
e bale §5S5 Aaeall o3 5 Adeall 5 ddiall o g gias 8 Y
ALK 5 daall e g giad a8 -

AL 5 Alseall g Al o (s a3 B -8

a.allia.n a. <8 ©

o o o o o o o o o o o o o o o
% == =% =% =% =% =% == =% =% =% =% =% ——% ——5%

o o
% ——%

o
s

o
%

o,
%000

o,
%0

o,
%0




R T T T T el

AN el 4 453
Modifier Head Complement
Good
Good at Mathematics
Very Good
Very Good at Mathematics

D dsdadl Baadl
Las bl Gl U 8 Wil s g 4da i > good -)

Cn 4 pmne e 25835l (ol g e 1Y) T onal s Al e V) (5533 Y Ll m ol im0 5lanlly o s
Jséi L (Tow classifications) Lual oS 138 Loal ddasdl eLsY) e (Phrase) 4alS pasivs of Liay o815 (el
(a1 e (g5 G AT dia s 2 e ) s AT 4ba 5 i Jodil 4ia s < e Lie
S pealie 5 il ) 7 8 Lasie Jal ) 501 Jead At 3 5 5Ladly (good) Al 5o of LSy 13 -
good at math -¥
. (good) LV 4l Liida s 5 ( Proposition phrase — Jsoae s )l 3ke) & > at math
Lokl 03gd Gl ) a5 4da 8 >go0d
(18 Jree) 4ba g3 ke & > very good -¥
(good) il 4uls s da 5 Jis o8 > very
3 el 03gd )l s 5 4ia > good
£ A jealiall L) Ua -
4dua g b e & > very good at math
(good) sl 8 Juse 5 Js > very
il A 548> good
(good) Il 4leSa itk 5 5 ( Proposition phrase — Jssa 5 Ja3)ke) & > at math
* Gradable adjectives are adjectives that express a condition or quality of which there are degrees.

. Cliall da s jal de g gl s e iad Clia o 43550 clial)

(Rastean Vv e dosiadn 0 Ve dygiadn ;200 dysiadn;n Ve dgiaan v ) cila ) e il of W A%,
4 slie s o e Talie] (gradable) <ls 5o Led 05S5 of cilall (S 13-

For example, “good” is a gradable adjective. There are degrees of “goodness”:
.(gradable) & <85 iy 5 4dia 68 “good” AlS e laill Ll 13) ; JEa Juns e
(goodness) 4l s jo cllia*

1. High Degree

e.g. very good

¢ (A yall) dgllad) A ) -

a.allia.n a. <8 ©
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very good /Jbs

good (» s # very good ke > very good 5 g0od ¢ O Vs s B ixa Liskaadl very dalS Lial

2. Excessive Degree
e.g. toogood
s Asdgia pal) da ) oY
Adad i L ST IS (g cand 53 (K3 ol o o3 Wline >excessive

(It is too good to be true) « too good /J%«

Aol adgd T 5% o el 138 (o 855 (05 o1 el (pn ST 5 855 Lo ST i1 i3 o

(s ¢ e late¥) &y g iy Caal of Lia i 13) *
4za & > The test is difficult -
eal & > The test is very difficult-
Jall elind o} il ds 53 4a & > The test is too difficult-
3. Sufficient/ Insufficient Degree
e.g. good enough, not good enough
D AlS jadl g [ 4dlsl) an ) oY
Lo el (S e S0y o S JS0) (eay A
good enough /J%«
sl Lo e el CHIS U o W e o0
not good enough /A1 Jis
Lol e e elil] COlS (<0 sam Canad

4. Comparative Degree

e.g. better (comparative form of “good”), smarter (comparative form of “smart”), more beautiful

a.allia.n a. <8 ©

14 41321\ Aa il
Ol o o) (o 5 e AT Al A il 8
" good" AalSl A5 jlidll da Al & > better /JGe
"smart" AS1 4 adl da Al & > smarter

" beautiful" 4l 43 )il 4a 0l & > more beautiful
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5. Superlative Degree

e.g. best (superlative form of “good”), smartest (superlative form of “smart”), most beautiful

sdaluadil da yal) -0
Lod e ST e e o8 demiil (A 5 Lo Al Aluadil] Aa ) A
" good" 4l Lluadill da 5ol & >hest /b
"smart" AdSl Lluadll ds 50l o4 > smartest

" beautiful" 4l 4 luaitl) A 50l & > most beautiful

* Some adjective like “complete” are not gradable. They are not normally compared, nor modified

AT

by “very”, “too” or “enough”.

el 5 a3 38 e L o lalins (complete) 4alS oY &5 lite la )2 L Gud (complete) Jie Clivall sy *

et dayn lefepdian w ¥ 54 liie cila o Led G (perfect ) 4alS Laadf

(very- too- enough ) e cilcay 5 oy e Ga:ulal\ e Glaall sda

» Adjectives referring to shape (e.g. round, tall) or size (big, narrow) can only modify count nouns.

They cannot modify mass nouns.

e.g. Thisisa big building. (INCORRECT: This is big water.)
(size — axall) 5« ( shape — JS& ) 1 e a5a8 8 Claall *
round, tall /Jt ;( shape — J<ill ) -
big, small, narrow /J% : ( size — pasll) -

(ALY 53 5ame all elan) Jond o i€y ¥ 583 samall slansdy) J3a8 Laih ; aaall 5 JSI
This is a big building /Jt«

(refer to size) p2> s > big
3532a aul 2 > building
cpaadl e 250 4V w1 U (big) RS s e sl a8
This is big water :Js& Laie ¢Sl s
AL L Y el aat ) Liay Y 43Y Aidala dlaall L

Lol IS 450l 5208 ais L) (shapese JSEY1) L) Cilamy il s AY) cilial) ia

a.allia.n a. <8 ©
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Function of Adjective Phrases

Function of Adjective Phrases:
1. Complement of Subject +BE

e.g. Ahmed is very intelligent.

s gl ol ) il

Gl laall A Caills o) 638 () sagion Tm W saiagd 13) ¢y s pmall 5 sladl Cljlie s drand) Cl jladl il s e Gl U S0 8

Aga
4 g Jab 4+ Jelall Alaalf -
ALeSall alay) Ly W g Aleall ixe JuSil 4 ) g jua o AleSall-
(main verb -cesbul Jad) ¢ 5 Aada sl o3a 8 45 53K Jub-
Ahmed is very intelligent /Jbs

alall 8 2 ) G Calall dapa sa g Alaad) sda & a5 ) Jadll >is

Jeld > Ahmed

¢Alaall e JaSal 2hga LY Alaall (e B jlall 38 (a3 Say Y 5 ¢ 4dia s 3 )le > very intelligent
Ahmed is very intelligent : Js& ol s ¢ dlaall ¢35 5 Ahmed is © Jsill LiSay DU

2. Complement of Direct Object

e.g. He found Ahmed very intelligent. (He found Ahmed to be very intelligent.)

1kl Jgrdall Alagal) - Y
He found Ahmed very intelligent /J&«

fan e daal of iy il 0 s Alaald) ixa Ua-

138 5 (e anfoan g5 gl OIS el of ) i s alaall Jaae (g s 43 ¢ Alaall g5 5 Laié (He found Ahmed) :Jsi of LiSa Y-

a.alli a.n a.<8 ©

Al e Alliay) 253 A1 Gl Sl
(Ahmed) 25 siluall Jsiall aleSa 4 > very intelligent
3. Pre-Modifier in a Noun Phrase

e.g. My very good friend is coming to visit me.

a5 (b A Jona -

My very good friend is coming to visit me /Jts
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oA sa 5 ¥ > friend Pl

4diay b le (& > very good ]

Asbia s le Ll g 4l 3 ke & > My very good friend }
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o2 il 35 (friend) am¥) J8 Cela Lgiea sl 550ad) Y (friend) asY) Clie (very good) s sl 5 )l 13) -
a5 lall 8 L 5 Ll

anl el 5 Y Saall Al 8 ddeall Lghaa (e dpan¥1 5 jleall 2a ) adi OS5 il anall oy Gyl Lia i 13 *
A

He is coming to visit me :J% (he) = ldadus 5 (My very good friend) s_okall e
CAdiad o sansinual) bl o iting Ua
4. Post-Modifier in a Noun Phrase

e.g. We must find the person responsible for the robbery.

D Asand Bbe (A gty Jaa -t
We must find the person responsible for the robbery /J%e
oI 585 au) > the person
Il (5323 Jase 585 44a > responsible
:zuai (him) @i s (the person responsible for the robbery) Sl s jlall s Jagius of cSaall 030 13 -
We must find him
(g3 Jaae) (el W Jand o4 eV 3 )lal) ae 833 3 (responsible) ddall of JaaSi-
5. Head of a Nominal Group
An adjective can be the head of a nominal group in the following special cases:
Tald s 038 > dsand dc ganad Ll -0
(N) oY1 5583 Lans¥) e sanall L3 le Gul 1 0 U 5 dpansd) ol jladl 5 4pensd) e sanal) e Tiglas i pa *
ol LS Baan¥) e ganall b (ul ) oo Adeall () 5S5 38 Aali Vs 8 (ST *
a. with a number of adjectives that refer to a class of people.
These adjectives include: blind, homeless, poor, wealthy, young, elderly, living, dead... etc.

The following are examples of nominal groups with an adjective taking the place of the head:

Codll e i ) i clial) e e pa -
blind, homeless, poor, wealthy, young, elderly, living, dead... etc /Ji
ol Gpliad) Gl 48 ) LeIDA e i (a8 Lo Alea B Dlind S Lenie-
Adal) oda 8 oS jilall el A8 ) IS e el (238 e Aes 8 homeless S Ladie-
A e S i) Gl A ) DDA (e el a8 e dles 8 poor S Ledie-
Jaall 8 el 4o sanad (Gl S Lgalasiinl LiSey cliall 038 ¢ &) -

H(Ada 5S Led Gl 1) dpand e gana b AU ALY *

a.allia.n a. <8 ©
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We gave money to the poor. (the class of people who are poor)

The wealthy must help poor people in our society. (the class of people who are wealthy)
The young are our hope for the future. (the class of people who are young)
(poor) & Led (el 5 (43l 42 5030) 585 (NP) > the poor -)

Al s b 0 il (el (e A3l 4ia & (poor) Al 13

LS 5 (NP) s salaly Jeld) o L S3 LS 5 ¢(NP) 525 05l LS (subject -isis) 4l 5 > The wealthy -
«(wealthy) 4éall 5 (The) 812Y! Lual Jaid (N-pusl) Lial Gl Ut edsansl) 5 5lall Gl 1l & 5 4ia & (wealthy)
.(NP) s# (The wealthy)

o) A o i) i) e 238 dia s (wealthy) S 13
(young) sa La daall 5 (i) 5 43l 4c sane & 5 (NP) > The young -*
bl A 8 (S 8 Gl (e A 4iia o (young) Al 1Y)
b. A few adjectives referring to abstract ideas.
e.g. The unexpected happened. The unknown is frightening.
o Al Aalal A -
Llie 8 () 55 T L3Y Lgwsal Wy Ly WiSay Y oLl Lalina (5230 IS8 - abstract ideas) o i (i ciliall (axs
The unexpected happened /Jt«
The unknown is frightening
i Ul 8 Jaas S8 e 5l Lagh lagaadd Y 5 Lagiys; LSy Y (unknown s unexpected ) LialS-
Asand 3ke (8 dgand de sanal (ul S Ol el 8 (lisall (lila-

Lpan¥) Ao ganall Gl o8 5 4geul 5 ke 8 el (unexpected) 3aall ((subject — Iis) & > The unexpected-
. (The) 314 <

. (225 ,\S8 - abstract ideas) Y i & 5 dsanY] de sanall (ul 5 5 4dia & (unexpected) 4 13 -

5 daan¥l de sanall ) (A 5 4aend 5 e 8 Cela (unknown) 4aall ((subject — iw) 4 > The unknown-
. (The) 814 <.l

. (222 Sl - abstract ideas) ¢ s o8 5 &xenl) de genall (Gl 5 5 4dia o (unknown) 3 13 -

c. Adjective that refer to the people of a country.

e.g. The English are very polite. (the people of England)
The French are very interested in fashion. (the people of France)
DAL G e el ) el lia
The English are very polite /J%s
Ay de ganall il ) & (English) 4eall 5 4sen) 42 sana 4 5 ¢(subject — 14is) > The English

Jlad) A gy (e ab el ) 505 dda 4 (English) 3K 13

a.allia.n a. <8 ©
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I

‘T The French are very interested in fashion /dts

o JoanY) e gaaall Ll < (French) 4&all 5 ciuanl 4o sana & 5 ¢(subject — i5-.\-\&) > The French
U% iy 4050 e b 0l il W 55 s & (French) 4eS 1)

I

|

|

|

“5 Exercise

ﬂ% Identify the function of each of the underlined adjective phrases below.
% a.complement b. modifier in NP c. head of NP

| 1. The driver responsible for the accident paid the fine.

I

I (driver) ol gams Jara & 5482 & > responsible

b il 8 > The driver

(he) = Ay 5 leall Jlaind Wiy a5y $au¥) 5 5lall Jaxe 431 Ll 3L ¢ b, modifier in NP st <l sad) 13

2. The driver was careless.
S >The driver
L ulal Jod 1 54530 Joé > was
LS Ciela lia g 4da & > careless
Aleall e JoSH age W55 (careless) 4elSd ¢ dlaall 5 5 The driver was (Jsill WiSa Y-

a.complement s <l sl i3

(driver) o8 18 Jaxs 25 (a careless driver) 4es¥! 5 ball (e ¢ 5 s > careless
b. modifier in NP st <l sl 13)
4. The police found the driver guilty.
. (driver) 4 Jsziall aleSa g Alaall Jine JuSl Lealini > gyijlty
(subject — Jeld) > The police

|
|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

}

r 3. He is a careless driver.
|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

1

| Jaé > Found
|

4 J 24 > the driver

‘0‘%

I

| 3y bl mad Alay) ol el Siall psiss @3 U 43 (The police found the driver : Jsi of adaivs ¥*
[ s Gl G il e pall o s c Aleadl o b adlay) o) el el oan g 3 pall 5 sl S sl o g "l
I e

i ,

5 cAleall Sime JLSY dege o4 (guilty) AelSé 1

‘0‘%

I

I a.allia.n a. <8 ©
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a. complement s <l sl 13)
5. The elderly must be respected.
(subject — ixix) > The elderly
AVl de ganall Gl I o ¢ 65 dall o Gy Wl S ) ALl GV (e 4 5 4da > elderly
Lt Gl e ganall Gl 1 a5 o(elderly) ) dba 8 S isall (el (g 44 aia b (elderly )ialS-
a5l 8 il ) o (elderly) 4aKS 13

c. head of NP & <l sall 13)

Lecture 9

Adverbials (Adv)
o gkl
Adverbials (Adv):
e An adverbial (abbreviated as Adv) can be a single-word adverb or an adverbial phrase.

» o«

e An adverb is a word like “here”, “tomorrow” and “quickly” which we can use to say where,

when and how something happens. It can also express other meanings like frequency, degree...

etc.
* An adverbial phrase is a group of words that does the same job as an adverb.
(AdV) = i B okl
10sSy 8
Sdall - adverb” e X 5 < saal 5 4dlS*
N4l s e — adverbial phrase” = 5 <5 je*

b sed aon le e b (S 5 e 5 Ol ) e sl aeaii of e 3 5 (quickly -tomorrow -here) Jis 4aS s ;JWadi-
(2230 5l i 5l - frequency) S Al glas g i O Ll LeiSay 5 ¢(slad) 5 magll 5 2 5ll) e Cila sl

() 5l 4 ) - degree)ss

el Jae i Jasi Gl ClalSl) (g de gana o8 1408 Y B Lall-

a.allia.n a. <8 ©
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Adverbials include:
1. Prepositional Phrases
e.g. We were waiting in the lobby. (adverbial of place)
1dadl i gl
Dosoaall 5 Jadle jle-)
We were waiting in the lobby /Jts

Ol Capla la Cels B 5 5030 5 s ke & > inthe lobby

Dallsjle Ugh caall &igan GlSa o yiad 4l 4 s Cels Alaall oda (8 5 cadd pla sS85 ) 5 lall & jle ¥

ile Gsial soaall
A <a>In

NP > the lobby

2. Noun Phrases
e.g. [ will visit my uncle this afternoon. (adverbial of time)
s danY) Gl L)Y
[ will visit my uncle this afternoon /J&«

Lokl ol i gl sy 3 Jaad 8 5 NP (o4 > this afternoon

u.\;ﬁﬁji;ﬂhﬁ;‘fﬂ\&lﬂ}h&}&)f\aduu)uu)bs:\.w»y’z)w\c_\;hm*

5L} aul & > this
N > afternoon
3. Clauses including:
a. Clauses with a Finite Verb (finite clauses)
e.g. We need to leave before it is too late. (time)
IS S5 85 eyl 5 Jead)
(333l @l jlall) g sl 138 se i 5 cadae Jad ae <l e -
(aallepadiliega ) aun e 5 saaa) &l Hlaall o s Ll LS
We need to leave before it is too late /Ji«

(2aadlepasillepa ) s e i (finite verb -2asa J=8) 54 > s

. Ul saane a5 5Lal) 03¢8 (Clause — blue) (o dame Jud Laa 5 13) Tiuse U583 i 5

Ol Cala a5yl oda dada s 131 ¢y Litlae | (before it is too late) 3 ke 13-

a.alli a.n a.<8 ©
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b. Infinitive Clauses (non-finite clauses)
e.g. 1 am playing to win. (adverbial of purpose)
(s303a il il Jlall) g sill 28 s 5 ey yaan Dl Jle -
10555 3 Non-finite ) o)f alas Ls*
(b+v+ing ) present participle Duas”

past participle

I am playing to win /dts

oAl sl Al 48 yaa b Laclus Cayl Cela U o(to + base form of the verb ) Jaas s > to win

c. Present Participle Clauses (non-finite clauses)
e.g. He ran down the road, breathing heavily. (manner)
(ad.\u ﬁﬂ\ &L\)hﬂ\) - tj.\n Jaa geaiy cJ.u.ala.“ L.f'tm u..gj...a'.m Glle

He ran down the road, breathing heavily /Jis

Coyla lia Ciela 88 5" jliadll Jeldl anl 3 e AT S palall 36 (o jai 3 le 4 > breathing heavily

Exercise.

Identify the form of the underlined adverbials.<<<< disall ga Ua o glhal)
a. NP b. PP c.finite clause d.non-finite clause<<<< s J&
1. He visited me in my house.
» x> In
P.P
NP > my house
b. PP : & sl 13)
2. He is studying to pass the exam.
(to pass) radl Jeldll Lyl
(to) = o8 (o amy jime sl (pass) J=sl--
sa3aa 3¢ sl non-finite < ¢85 Wil jabadl of e U 5

d. non-finite clause : s < sall 13

3. Ali has an exam this morning.
5_)LE) sl > this

(N) a~! > morning

a.allia.n a. <8 ©
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c. finite clause 15 <l sall 13}
4.1 will give you my homework after it is done.
(clause — oube) (A 5 el 48 e G Laelus > after itis done

daa Jad 4 > s

c. finite clause : s» <)l 13 >> (finite clause -s23ae) 5 )Ll s sase Jed L Laa 5 13) clause ) of Wl

5. They walked together, smiling widely.
oo @l 48 e & Laelid (Non-finite clause — s23ss e 3 e ) o4 > smiling widely
(22se x& — non-finite )s45 ing + J28 > smiling

d. non-finite clause : s <lsall 13

Many adverbials are adjuncts; they provide additional information, are part of the structure of the clause,

but are optional. Adjuncts include adverbials of:
1. Place (position) telling us where (e.g. in the hall, there)
2. Place (destination) telling us where to (e.g. to the door)
3. Time (when) telling us when (e.g. at nine o’clock, today)
4. Time (duration) telling us how long (e.g. for 10 days)

5. Relative time telling us how long ago (e.g. just, still)

6. Frequency telling us how often (e.g. always, rarely)
7.Degree telling us to what extent (e.g. almost, barely)
8. Manner telling us in what way (e.g. carefully, with care)

daslual) 5 pualanally 138 USE >> (4 i) Bal 3l e Ll U3 il 5 el 58 055 8 i Ll

i) il shee La Ulant g ilaall inll JLS) b g e 5l
Jale o)y Jlall @il jle 8 WLl LS a) 558 Lgiada 5 ()55 8 o g ylall a wiaall 13
optional- 4kl -
part of the structure of the clause, but are optional - 4L 81 53 jkall sliy A 2 3a A=
provide additional information - 4t Gl slas e-‘ﬂ oA
2 iy B Jadis gl s
(crl) = Ui 1 (A g) hSall G jlia

in the hall, there /Jts

a.allia.n a. <8 ©
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(o ) 0o Lt () ISl iy

to the door /Ji«
<l ) )3 seae > Mohammed is going to the door ;e il ) )y L (add e U iy
"4¢2 5 — destination” > to the door

(Lo s dan (Ja) " A" e Uit () hajl -
at nine o’clock, today /Jte
(Gnin 5l e o) o Uiy 1 (038) Clajll i jla-t
for 10 days /J%e
(e 1 (g oS) o Uy 1 " ppend il G pB" of i gl) Apadl i yha-0
I just finished it > just /JG«
[ still here > still
(OsSdale a ) oo Lpdy 1) sill i yBat
i3> rarely ¢ Ll > always /e
(2l ) oo Loy tle daal d by
(bl ) sl g o Al G anl g (0 gl (T ey Cuwd Ua > T am almost done my H.W. > déy = — almost /Jia

sl Ja e el i€ ol sliae La > [ barely finished it while my teacher woke in > 2SI — barely
REECRIEIY N

(43,h b ) oo Uiy tle baadl i b i sl i jla-A
do it carefully > carefully /Jte

you should handle it with care ¢ do it with care > with care

Exercise.

Choose the type of the underlined adverbials.
a. adverbial of frequency c. adverbial of degree
b. adverbial of manner d. adverbial of relative time
1. He always drinks tea in the morning.
a.adverbial of frequency : s w5l 13 >> ) Sill (s )k - adverbial of frequency > always
2. The climbers barely made it to the top of the mountain.
c. adverbial of degree : s lsall 13 >> L 4a ;a0 Ca )k - adverbial of degree > barely
3. He finished the exam quickly.

a. adverbial of manner : s il sall 13 >> Lo Jaadl §f @l 5f (1l <o)k - adverbial of manner > quickly

a.allia.n a. <8 ©
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4. My friends just arrived from their trip.

a. adverbial of relative time : s <l sall 13>>L Jaadl §f &L §f LY a4l - adverbial of relative time >just

5. They bravely climbed the mountain.

a. adverbial of manner : s il sall 13 >> Lo Jaail 5f &gl §f 3l <o)k - adverbial of manner > bravely

Note: Similar to gradable adjectives ( Lecture 8), some adverbs of manner can be gradable.
We can give different degrees of the meaning conveyed by a gradable adverb. The adverb of

manner “carefully”, for example, is a gradable adverb.
e.g. very carefully, more carefully, most carefully
Some other adverbs of manner, e.g. “perfectly,” are not gradable.
" gradable adjectives " o 4wl 3 palaall & Liaas ;4% gl

e Ll S B Ll CsluSU 1 sa Y s -

Al Al (U8 o) DDA e il 5 inall (e (43 sliie il ) Adlide Cila 5 an o LSy -

:( gradable adverb - da 3l @slite Jla) sa JGaS "carefully” dalS @sla of Gl Jlali*

(4=di yall) 41l 45,2 - High Degree > very carefully
4,84 4>, - Comparative Degree >more carefully

4alundill 4 0l - Superlative Degree >most carefully

(32,3 @ slite-gradable) 15358 of oSar Y « completely - perfectly /die ¢ JaT & sla o Glul ) sal) ans

Position of Adverbials

Position of Adverbials:

Adverbials can be found in three main positions: at the end, at the beginning or in the middle of a

a.allia.n a. <8 ©

clause.
;g ol aal ga
sanlod gual o ¥ 8 Lo 38 Cay plal*

(hamiiall) Lo sl - Ll i el i
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1. Final Position
It is very common for adverbials to appear at the end of a clause.
e.g. Thank you very much.
TP
. (clause-s_ball) Ales (& seday o alall Siaall (4
Thank you very much /dts
. (clause-s_lball) 4 (4 jeda B 5l @ > very much

2. Initial Position

Some adjuncts, e.g. adverbials of place (position), time, and frequency can appear at the
beginning of a clause. The purpose of this position is to focus attention on the location, time or
frequency of events and activities. For example:

Two days ago, I saw my dear friend Ahmed. (focus on time)
In Riyadh, there is a big celebration. (focus on place)
t4a) ada ga- ¥
& 5ok 3" frequency-L/ S 5 "time -l 75 “place (position) -(4wmas) OSall Cag IS ¢ il il (any
O Gaadiladie) adgall o 58 51 5 oLaY) Al gl s Alad) 8 aa ) sehal Gixe e agd 5 (clause-s_ball) Al
ALY 5 @lall S8 e i (e oo aati Laxie) el el (3 kel 8 BlaS S Ga b
Aleal) 3 o shaall (e puciusal) oliii) 2 3y 5y Caaaialls-
Two days ago, I saw my dear friend Ahmed :JGall Juu Je-
(e e S 3l) >Two days ago

o U a3l o oty aanialld gl e painall sl 281 5 o) 5 Aol 3 olinaa s 5 kel (g ol 3l Ca il Ldal
Al b glen 5a 13g)

[ saw my dear friend Ahmed two days ago :dJ s salall (e-
2 5 5 age Alualdll of 1aadl ls > Two days ago, I saw my dear friend Ahmed :J 2V L oSadll (e
In Riyadh, there is a big celebration : Al Jt«
(0salt e 38 530) > In Riyadh
There is a big celebration in Riyadh : J& salall (e -
In Riyadh, there is a big celebration : Jsi GSall e aaiusall olil il Ba ) 13) Liad (Sl (ya 5
3. Middle Position

Single-word adverbs of frequency, adverbs of relative time and adverbs of degree normally
appear in the middle of a clause. Their position is immediately after the operator in complex
verbal groups (Lecture 5), immediately after the full verb BE, and before any other simple verb:

a.allia.n a. <8 ©
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e.g. We have often talked together. (after the operator “have”)
We are still waiting. (after the operator “are”)
We are very tired. (after the full verb “are”
We still have some money. (before the full verb “have”)
We sometimes go to Jeddah. (before the full verb “go”)
: (iaaiiall) Ja gl pn ga-¥

b ek Bale (L3 -degree « il i sll-relative time < _Si-frequency) o J) s s 5l Sl S
(clause-3_ball) Lo 5

10985 agrdal ga <<<gisal) Joly 1938,
(<103 U 3 Auwal ) 5 pualaall 3) sainall Aulaidl) e ganall 3 158 (the operator -Jalall) s -)
T8 (1) el A5 5 Jad 2y -
Al s Jad g1 38 -
We have often talked together /J%e
. (have) Jdall a2y ¢\ (often)-
ot sl Dm & sl of Sl (g 5 «Jalall 58 (have) «(have talked) s3ae Ailad de sane Linl
(talked) ¥ Jaill 38 5 (have) daladl aas ola 385 (ki) s 8 > (often)-
We are still waiting /Jt«
Saladl 54 5 (are) 508l Jad Wl ¢(are still) saine Zolad 4 gana Ll
(waiting) (=bs¥) Jaill J8 5 (are) Jalall aay ol 385 (k) dis 58 > (still)-
We are very tired /Jbe
el = el L (are) wsusSl dad 5 cdla Ciela iy el Jod Cod dlaad) 038 (tired) < 4alS ;) g
(are) Jad) oy b a5/ Js > very aeall jpem a5 ISV Gl b adly ey / Jeli > We
Ll Js > tired b un sl Jadll g5 Aaal) 3 il Jnd / 2538 Jnd > are
We still have some money /J%s
. Jsa¥) i b (operators — Jalsall ) e e (5 A i) JS*
.Jdia 585 "have" J8 ¢l > still =l 8 > have
We sometimes go to Jeddah /Jts
(sometimes go) la & Ly

" go" Ll Jadll i sl 5 Jis > sometimes @bl ded > go

a.allia.n a. <8 ©
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Function of Adverbials

Function of Adverbials:
Some of the functions of adverbials include:
1 g lal) caila g
1dadi g hall il gl (g
1. Adjunct
e.g. | knew her very well.

(4 iy Sl ) daall e JLSY S e 1plad

e Taai sl bl gl Ul il Mvery well” Ll Lidial levie 5 4laiSa alea & > [ knew her very well /Jba

(e ot LiSey) ls (8 8 5 iy 5 sl 8 > (very well) B3
2. Complement of Subject +BE
e.g. That’s all right.
Alaall e JUSY 4y 5 i 1diphsl) Jab g Jolil) Alasa-Y
That is all right = That's all right /Jt«
AlSe g gl i 5k > all right ol Jaé a5 Jadll > s ixill > That
3. Direct Object
e.g. They didn't tell me why.
1AL J gl
They didn’t tell me this : Jl Wi€a ¥ > They didn’t tell me why /Jé«

Indirect Object > me Direct Object > this :0¥

They didn’t tell to me : J&ll Wiey oK1

They didn’t tell me why
(tell) J=all " jilue e Js28e — Indirect Object " > me
(tell) J=all " 13l J 5280 — Direct Object " > why
4. Modifier

Adverbs can modify nouns, adjectives, prepositions and adverbs.

oA sl 56 5y mally slallc ciliallc slawdyl Jaxi o LeiSay IV a1 1 Jdnt
NP > nearby hotel /\

NP 4 il s 5 N > hotel

a.alli a.n a.<8 ©
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d. modifier : s <l sall 13

a.allia.n a. <8 ©

Lol U Ll Jadll a5 ikl Js > nearby
NP > way ahead /Y
NP & il 25 N > way
U (gl Jaaall g8 5 ik 5l Js > ahead
4diay 3 e > completely new /*
(Adall 3 e ) ddiia sl 5 el ud )l 8 5 4ia > new
Lo il Janall a5 Gkl s > completely
43iuag ke > quick enough /¢
(Aol 3 le) Bbia gl 3 jLall 54 5 4ia >quick
o0 ol Jaaall g4 5 ik 5l Js > enough
48,55 e > very often /°
il a5 sl sl s > often
) Sl g 5l ol Jis > very
43,5 5 e > quickly enough /1
Gl Y a5 sl s Js > quickly
@l Jandll 8 5 iyl 5f Ja > enough
2924 5 Ja 5 ke > directly through /v
o) 85 5555 5 s > through

il Jaxd) s 5 ik Js > directly

Exercise.

Identify the function of each of the underlined adverbials.
a. adjunct b. complement c. object d. modifier
1. Are you absolutely sure?

) 585 48a > sure

M sure" sl (L8 Jaea a5 <ok Sl Js > absolutely

2. The child followed his father very closely.
e cLaiu) oSa 5 &5 4 > very closely

a.adjunct : s el 13) iy 5 ik 1
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3. He told him when to come.

d=i > told Jelé > He
c. object 15 sl 13) il 4 Js2ie > when il e 4 Js2ie > him
4. The show ended very quickly.

4,k s ke 4 > very quickly
ol 8 Jae a5 Gl ol Jis > very Gl U a5 sl s ds > quickly
d. modifier : s i sall 13
5.1t was all right.
faaall > Tt
Y1 Jedll s 5 43Sl Jad > was

b. complement : s <l sall 13} (AL o L ) Aaaks s 13) ¢ Alaall e JaSy 85 <ok > all right

<l ) — "Adal) @l e Lda gl @il jlall — jgaall g el @ jle ) Ge Aal ja ¢ eSia B pdilad) B pdalaal) %
(AdoBl @ jlal) — drau)

Lecturel(

Basic Types of Clause Structure

Basic Types of Clause Structure:

« [n making up a one-clause sentence in English, we have a choice of five basic clause structure types in
which all the elements are necessary.

 These basic types can be expanded with other optional elements like adjuncts and modifiers.

« Each of these five types follows the basic pattern: Subject (NP) + Predicate (VP).
e In each type, the subject will normally come first and is the followed by a verb phrase.
e Only the composition of the VP changes in each type.
silaal) i 3 bl plid Liulud) £165Y)
b o3 ) oLl saLtins 5 ¢ analy s le b ciblial L3l s Jan (o a1l b 8L

oA Canal of a5 g laiy) 43l 3 (one clause sentence -sasl s 5 ke ) sl dpulul 3,k 0 Ll 13
_:\ﬂ)j).b).auﬂ\a;m cegi)m\_ud\

a.allia.n a. <8 ©
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s palic Clacldl) sda e IS 5 (clause — 4lea 5l 5 ke ) sl Al £ 51 e il a0 Ll T
o3 (any O LSS LS 5 i Lia) pualie 5355 e pealic Lial T3] ¢(clauses — <ball) 38 s 55 W) (Saall (pan
13 ale&all 5 Jadll 5 (subject — il sf Jelall) :ie &y ) g pall jualinll any 5 oV 3nall 5 ool sill 1 4 HEAY) jualial)
s s Lglead V3l 5 ol 530S L pualinl) oany Adlia) (Saal) (a8 5 el dpudasl 3206 Lyl (S 13)
2 ) Jaadl) s dnadl) 153 238 (e 8-
Subject (NP) + Predicate (VP)
Jieliacale&ull /e Ll 5 Al jualic e gl dilad 4e sene e (5 51y o (Sadl e " Predicate) 8

Lald Vs a0 5 ilad 5 )l o 25 e s Al i il o adall e (sl i Jeld)) ¢ g1 03a g JS -
L Bwalaall dles (8 Lgh i

G gl o8 5 i Y S i Jeldl ¢ daadll g1 51 o3 e g 53 IS G Aaladll 3l (S 5 g e yahy g3ll-
Al B Ll sa

¢ The VP may contain the following elements:
1. Intransitive Verb (abbreviated as Vi)
2. Transitive Verb (abbreviated as Vt)
3. BE or another Copula
4. Complement (abbreviated as C), which includes:
a. Noun Phrase (abbreviated as NP)
b. Adjective Phrase (abbreviated as Adj)
c. Adverbial (abbreviated as Adv)
5. Direct Object (abbreviated as dO)
6. Indirect Object (abbreviated as i0)
Agladl) 5 5lal) il (mny Leday ) Wiy 31 jualiall L o3a 13) > 14000 jualial) o o giad o8 4dadl) § Lall-
(Vi) p3¥ dad-)
(528l s3al- Monotransitive) ¢ (Js=iall S - Ditransitive) : cue sill SIS Jodii lia > (V) s22a Jad-Y

"Non-finite verb-sass e 41 545538 J=é been" (is, are, was, were) &gl Judi.y
He is here/Jdis > (4ka gl byl ) J28 -Copula) ) s

4ia 5l Ja > here =i > s Jeld > He
(4 5l Ll ; Jeé -Copula) =i o2 > "here" daall 5l Jall " He" Jeldll Ly 5 " js" dalS-

{(have) 2= (been) padiviv e 582350 e 43538l Jad st (have) = 4538 Jad Gild Laxie (S
el & 5 el de sanall 8 Lgiilia) LiSay jeaic & 5 (C) ALaSall-t
LSl (ga A 5 > dganl) 5 5Ll NP -
(Al 5 )le) Laasll 3Ll Adj -
Akl s lall Ady -
(dO) bl J gadall-o
(i0) Hdlsa sl Jgadall-t

a.allia.n a. <8 ©
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« The following table shows the five basic types of clause structure in English:

4 3lady) 3l 3 (clause-s ball) sl Tuadll g ) o) W el ) Jganl)

Type Structure of VP Examples
1 Vi a.__ a. We waited.
b. C (Adv) b. We sat down.
2 BE +C a. NP a. He was my friend.
b. Adj b. He was intelligent.
c. Adv c. He was in my class.
3 Vt+dO + a.___ a. I made a mistake.
b. C (Adv) b. I put the key in the lock.
4 Vt +i0 +dO a. (to) a. I gave him an answer.
b. (for) b. He made me a suit.
5 Vt +dO +C a. NP a. I found him a bore.
b. Adj b. I found him boring.

[Vi] :Js¥) £ gill-)

clila) > S+ Vil

Jel 'S : We < We waited
aJ¥ B8 Vi : waited

Gléilsl > S+ Vi+ C (Adv) /e
Jelb'S : We < We sat down
aJ¥ J28 Vi : waited
Jeldll 5 Jadll dlaga & L aiia g5 il Adv : down

cllal Laiiila 5> [BE + C] (S8l £ 5ill-2

S+Be+C(NP) /i
Jel' S : He < He was my friend
4igis Jab Be : was
deldl) 5 Jadll Alasa a L Wik 5 5 dzend 3 e NP : my friend
S + Be + C (Adj) /=
Jel S : He < He was intelligent
45iS Jad Be : was
Jelill 5 Jaill dlaga o L Wit 5 4ba Adj : intelligent
S+ Be + C (Adv) /=
Je S : He < He was in my class
45is Bk Be : was

Jeldl) 5 Jrdll Alasa o L Lgtida g5 g (55 Ll LSI LS 5 952 9 s 3ke Adv (PP) : in my class

a.allia.n a. <8 ©
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dO ilue Jpnie + Vi sonic Jsnie >>> [V + dO] :¢88l £ 413

alibal gsu > S+Vt+do /i

Je S : | < I made a mistake
(Monotransitive verb — Jsxiall galal gasia J=3)  saia Jad Vt : made

Ak J2da dO : a mistake
Glilal >>> S+ Vi +dO + C (Adv) -«
Jel S : [ <Iput the key in the lock
(Monotransitive verb — Jssiall (salaf (saaia J=d)  (gaxia J2d Vit @ put
A Jg2da dO : the key

AaSa o L gl gy il S5 Ledl L SIS 5 454 9 la 3be Adv (PP) : in the lock

clilal Lilila >>> [Vt +i0 +d0] a0 ¢ sill-4

S+Vt+i0 +dO0 + (to) /i
Jel S : I <Igave him an answer
(Ditrnsitive verb — Jsxidl Al gaxie Jad)  saka J2d Vit igave
Al 2 5246 i0 : him
Ak Js2da dO : a mistake
(o) phiuty AT 05 Alaal dBlua oS

Jsraall &3 e 5 (t0) = il (.u Yl il J sedall b o oSaall (e 4l Baadls aleal) delua sile) e > ] gave an answer to him
ilae ul)

S+ Vt+i0 +dO + (for) -<
Jel S :He < He made me a suit
(Ditrnsitive verb — Js=iall Sl (gaxia J=d)  gaia J22 Vt : made
il £ J2a i0 1 me
Ml Jg2da dO : a suit
: (for) aladialy AT Jody deall 48 Lua (Sar*

Jsidl) 5 (3 5 (for) = el & Y51 lall Jsmiall iy o (Saall (pa 4if 233 dleall delua 33le] o > He made a suit for me
il

AJZSAQ;L;)S;.JQTQHUA> (AeSa + dle Jgnia +gania J=8) > [VE+dO +C] 1) £ 5ll15

S+Vt+dO+C(NP) /i
Jeld S : [ < Ifound him a bore

(Monotransitive verb — Jsxiall (salal (saaie Jad)  ga2ia Jad Vit :found

a.allia.n a. <y ©
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Al Js28a dO : him
alaSa o La iy 3 NP : a bore

138 5 (505 & ey il IS 4df) 038 (inalld callia Sl inall o i 439 Alaall e o5 1 (1 found him) sl LiSe Y*
(s pantll b o ey 5 ol 4l ) sa Adlay) ol all Y als

S+ Vt+dO + C (Adj) -«
Je¥S:1  <Ifound him boring
(Monotransitive verb — Jsxéall salal asia J2d)  sa%a Jad Vi :found
2l Js2da dO him
Alasa o Ua gidda g5 Adj : boring

e As we mentioned at the beginning of the lecture, each of these types can be expanded with
optional elements like adjunct and modifiers.

For example, we can expand the first sentence in Type 1 as follows:
We waited. (Type 1)
We waited in the car. (Type 1 + Adjunct)

5 @l sS4y jlaal sualie YA (e < et o Saall (0 1581 030 (0§ 3 S ¢ b puala) b lasd U S3 LS 5
_(LNAMS\

( QU J Y g sl 8 ) Aleal) aa g8 (Saall (ga /e
(Js¥ g ) > We waited
ALY o8 3 ga 5 agal) e ad 081 5 Al g i i > (@i + J5Y) g 5301 ) > We waited in the car

« Simple sentences have only one clause. They can be expanded even more by combining them
with other clauses as we will see when we discuss compound and complex sentences.

Gl ks Gy agday ) JA (e deall 038 a5 (Sadll a5 ¢(One clause — a8 sasl g3 ke ) e (o giat Aagun) Jaali*

las Ll S5 1) ol jlall) ([l Lgndamsy <l sl Jay ) A (e 4S5l 5 i) Jaad) Bl W Sl (30 13 ] (A

o ST ot Ailia) Ll s Hasdl Jead) e c¥anall 5 a5l Alia) (Sl (po ¢(dai Apead) Jaall 3 Laitee LS
il A el Jaall Wl (585 SV Akl dlaall e 3 ke

» Be careful not to confuse these five types of basic clause structure with the five types of complex verbal groups that
we discussed in Lecture 5.

4e sanall (complex — baieall) dusadll 1 5Y) G 55 pualaall 038 o jlaad) elid Apulis) disad) g1 591 G | shasallis Y*
t Al dl) B pualaally > ddadll

I made a mistake - We sat down - We waited < (325 5,ke e (5 giad) Ao dles [J*
I can make a mistake - We can set down - We can Waite < (s2al5 5 ke e (5 53a3) complex - saixe dlea

e Producing “good grammar” is often a question of fitting a verb into the basic type or types
appropriate to it.

A S gl Jals b ) g il Jas Jadl) s Alln e Y1 G 3391 G Ul (s 4 sai 32018) Ly
.Jadll

a.allia.n a. <y ©
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For example, the verb “tell” can fit into basic type 3, as seen in the first example below; and it
can also fit into basic type 4, as seen in the second example below.

e.g. 1. He told the truth. (Type 3)
e.g. 2.He told me the truth. (Type 4)

iy o Ladl oSl (e 5 JaudL OV Ul 3 1aadl s LS ¢ o) B g il e iy 43l " te]]" Jadll /e *
1AL A Qe 8 Bad s WS ¢ ol al g il aa

((Jsniall galal gania Jad ela " told" Jedll s ) &Ell ¢ 5l > He told the truth -)
S >He
(Monotransitive verb — Jsxiall galal (sasia Jad) g2 J2 Vt > told
Kk Js2da dO > the truth
( Ditrnsitive verb — Jsaiall (A8 (sa2ie Jad sl " told" d=dll Ua ) &l )l & 530l > He told me the truth -Y
JelS > He
(Ditrnsitive verb — Jsziadll AU gaxia Jad) (s J2d VE > told
il £ J2dai0 > me
sk Js2ada dO > the truth
On the other hand, the verb “explain” can only fit into basic type 3, but not basic type 4. For example:
e.g. 1.He explained the answer. (Type 3)
e.g. 2.INCORRECT: He explained me the answer. (Type 4 is not possible with the verb “explain”)

A e Qé_ule‘\)” &l g il e ity ¥ oSl “é.u\_my\ G & gl e ulity 38 "explain” J=sll (s Al Lal
:JUl)

Lis SIG ¢ 4ill > He explained the answer
JeléS > He
(Monotransitive verb — Jsxiall galal gasia J=i) e J2 Vt > explained
il Jg2da dO > the answer

.0 smia 330 o Sy ¥ "explained"” Js&ll (¥ > He explained me the answer :J s (hlall ;e*

a.allia.n a. <8 ©
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I

I -

»L Exercise

| :

I

| Which of the underlined elements is NOT a necessary element of the following clauses? If all
H elements are necessary, then choose “d”.

‘o

i a. (1) b. (2) c. (3) d. all elements are necessary
U% 1. He was in my home yesterday.

I m @ 3)

I

(J28) Adasl) & (555 0 > was

I C.(3) 1 5o lsall 1Y) ) .
| e (41aSe) Aaall 8 5522 > in my home

L

| @l 5 sk >yesterday
% 2.Maha is agood student.
L @ @

(subject -liw) leall & 5,5 02 > Maha

d. all elements are necessary: <l sall 13 (=) Aol (B 552 > s

(sSa A 5 Aa g3 e ) daall & (5552 > a good student

3. The angry man waited impatiently.
n @ @3
("man" Sl alixa a5 -48a) s L) > angry
a. (1) s Sl iy (subject -Jeld) ileall & 5 552 >man

(J2d) el A (55 0 > waited

Exercise.

Identify the basic clause structure type for each of the following simple sentences.
a.BE+C b. Vt+ dO c. Vt +i0 +dO d. Vt+dO +C

1. Faisal wrote a book.

O O Sy g S 8y Qg @y g @ @y Qg @y @y e Qg O @y 0y 9y Oy O
o

oo e S o ge S 8o ge Jo 8o go go §oSo o goSoSo—go s &

Jeld S > Faisal

==s

o6

b. Vi+ dO sl sall 13 (Monotransitive verb—J siall alal asie Jad) gaaia Jad VE > wrote

o——o,
o

S Jg2da dO > a book

I a.alli a.n a.<8 ©
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I A A dgally g 483 )
l
| |

I 2. He is a good writer.

So

Je¥S > He H

E
|
a
2
3’0‘

|
ls a

X

° B
% So

Ho a.alli a.n a.<8 ©

e.g. Three exceptions exist. (Type 1)

| ]
| ) LsiS Jd V (BE) > is ]
i a.BE+C: s sl 1) |
‘o‘% alase & 3 4da C (Adj) > a good writer H
| l
l d
U% 3. He gave me the book. H
l J\
I s JeésS >He i
U% ) (Ditrnsitive verb — Jiall Sl saatie Jad) g2l Jad VE > gave H
L CVE+0 +d0 i sall 1y ) d
| A £ Jp8ai0 > me Jl
l J
‘T il Jg2ia dO > the book H
®© \ kY
I |
I |
U% 4.1 found the book interesting. H
l J
‘T r s > H
i . . ]
H% (Monotransitive verb—d siall (galal (saaie Jad) - g2 28 Vt > found :‘
L doVt+dO+C: s sl T { ‘\
! il Js2ia dO > the book |
I’ I
| , , |
ﬂ" L 4liga & 9 4da C (Adj) > interesting H
I ]
I ]
U% 5.The book is in my library. J
Il |
i . |
ﬂ" J=& S > The book H
r% e . ]
H% 2. BE+C 1 s il gall 1) S J8 V (BE) >is Pl
| J
U% Alaa A 5l ¢l Ja C (AdV) > in my library H
Il |
i J
i Adv (P.P) i
I |
i J
I il
i = 4= - J
i Variations of Basic Clause Structure Types 3
w |
" A
i J
W Variations of Basic Clause Structure Types: H
ﬂ% Common Variations of Basic Clause Structure Types.. H
" B " ‘ < i
. il i 5 jlall Laled) Sl £1 53 il il )
L ALaall g 8 jlall Ll sU £ g5Y daLal) el il ]
Il |
i J
[ 1. In type 1, “there” can be used as an introductory subject. |
‘0‘0 0
Il

|

‘0‘0

B
oH
&%

o
N

o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o
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There are three exceptions. (Variation of type 1 using introductory “there”)

*The pattern in this example is: There +BE + Subject

:?.\33.4 ‘ S? - 8 "there" PAS d}‘y‘ t}m L;j'\
Three exceptions exist /Jbe

Jeld -S > Three exceptions

(S + Vi) Js¥l ¢ 5l

Vi > exist
There are three exceptions

( piie lvisa — introductory subject) > There

3sas oY) g sl sl

451 J=8 V (BE) > are

( paiie i — introductory subject)

late subject (S) Ak 3 > three exceptions

" There" 4l aladiuly

There +BE + Subject : s "™ Jiial 13gd Jaaili*

2. “There” can also be used as an introductory subject in a variation of type 2.

e.g. Some books are on the shelf. (Type 2)

There are some books on the shelf. (Variation of type 2 using introductory “there”)

1 g ll Rl b it 1508 23358 8 "There" S
Some books are on the shelf /Jlis

Jeld -S >Some books

448 =8 V (BE) > are

(S+BE+C) S g 5l

sy Sl g all sl
I3 — introductory subject) <
" There" 4l aladiuly ( aai

a.allia.n a. <8 ©

e & 5k 5l ds C (Adv) > on the shelf
Adv (P.P) —
There are some books on the shelf
7( a3 153w — introductory subject) > There
458 28V (BE) > are

late subject (S) sali 15w > some books

L& 4 5k 5l ds C (Adv) > on the shelf

\ Adv (P.P)

3. Type 2c, can be reversed when the adverb is “here’ or “there”.
e.g. Mohammed is here. (Type 2c)

Here is Mohammed. (Variation of type 2c)

e There are other variations that we will not discuss here.
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"there" s "here" i€l as) s LBl o Jadl 13 ¢ & Laaie Jall & Jeldll 5 Jeldll gl&a Jadl Jlasiad (SKaall (4

Mohammed is here /J%
Jaie - >Mohammed

O 5 (S + BE + C) 4l g 5l
Adv s C 0sSs of oSl

LS J28 V (BE) >is
e 4 5k ol ds C (Adv) > here
Here is Mohammed

( paie I3ie — introductory subject) >Here

introductory 25y JGll & 6ll il
( pie e — subject)

L€ J2V (BE) >is

late subject (S) ki lsiw > Mohammed

Lecturell

Coordination
Coordination:<iksll
In the previous lecture, we discussed the five basic types of clause structure.

Each part of the structure of a clause can be duplicated (doubled) or added to by Coordination.
For example, the subject is duplicated in the following sentence:

Mohammed and I are good friends.

The two parts of the subject in the previous sentence are joined by the conjunction “and”.

Conjunctions are words like “and,” “or,” and “but” which we use to connect grammatical units/elements in

a sentence.

e [f we combine more than two parts, we usually separate the parts by commas, using the
conjunction to join the last two parts only.

e.g. Mohammed, Ahmed and I are good friends.
Alaall 55l el dusedd) i) £ Y e Lians Aaiull 5 jualadll 8%

Adsie Alaal) paail adliak 065 o)l (aeliad) adeliah (583 G (Sl (o Alaa) 5 5 )l iy a6 JS*

a.allia.n a. <8 ©
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At Alea) aat] ALY f dielimal) o Wil Vel 5 ol il i Lella o 3(clladall) (Gasadl 1)

(IS (Jelall dieLine aalaiasd 38 /Slia-
Mohammed and I are good friends
(and) <ibe s s Al g Uﬂu Al Alaall & odadll DS
Aleall b s jealic i 4 5aill cilas gl oy 5l Ladiios ) 5 and, but, or die ciball Gig s
(I -Mohammed) k& (i ja Likay ) Giladl JEall 3
coan oo sl aY) Juadl (ALalill) aadiuid cpl ja e ST I 5 o La 1) oSl

L hdd ol e HAT Loy Calaal) o ja

Mohammed, Ahmed and I are good friends /JU«
(Alalé) s Laalilead ol 3 -
(cibe caya) o Laalihay ) col a AL

.(and) s Calaall (o an

Types of conjunctions:

1. Coordinating Conjunctions (coordinators)
These are single-word conjunction, including: “and,” “but” and “or.”
e.g.  want Ahmed and Saleh to come see me.
e.g. | want Ahmed or Saleh to come see me.
e.g. | want Ahmed but not Saleh to come see me.
rdbaall Giga &1333
(Oshuiall) o oo 3B >> 1 (Afpaiill) Abuial) cibal) Cig )
r ) Ganai 580 yiie LIS o T3] (2 5dk) Baal s AalS (S5 08 Calaall Cig ja
and, but, or
I want Ahmed and Saleh to come see me /Ji«
Les L3S Ahmed 5 Saleh )i 3l lalixe Ua > and
[ want Ahmed or Saleh to come see me
(Legie 2al5) kid Ahmed s Saleh )} il Walias lia > or
[ want Ahmed but not Saleh to come see me

Saleh ki 3 )l s Ahmed Saxind il lalins Ua > but

a.allia.n a. <8 ©
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2. Correlative Coordinating Conjunctions

Uo These are pairs of words, including: “both... and...,” “either... or...,” neither... nor...,” “not only... but also...”
I

‘T e.g. l want both Ahmed and Saleh to come see me.

3 e.g. | want either Ahmed or Saleh to come see me.

| e.g.l want neither Ahmed nor Saleh to come see me.

e.g. | want not only Ahmed but also Saleh to come see me.

2 (Adas) yiall) A DUial) (Aacadill) Abeuiall Cibuall Ciga - ¥
I ) i (S G 155) Ry S 0 5 e b
I both... and...,

:% either... or...,

neither... nor...,

I not only... but also...

. e Jolall are g LK o 5 AdaaDle any /)
[ want both Ahmed and Saleh to come see me
(sBA > and g« either ¢« «ila > and g« both
I want either Ahmed or Saleh to come see me
(=B > or g« both « iba > or g either
[ want neither Ahmed nor Saleh to come see me
<la > nor & neither
[ want not only Ahmed but also Saleh to come see me
«ila > but also g« only
3. Subordinating Conjunctions (subordinators)
4. Correlative Subordinating Conjunctions

We will talk more about the last two types when we discuss Subordination in Lectures 12 and 13.

o (i) A8aLl) Cilasll Cig ja-Y

W’ (A jiall) A Bial) (daiadal) A8adll) Cibaal) i g ja-t

I a.alli a.n a.<8 ©
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Exercise.

Choose the type of conjunction in the sentences below:
a. Coordinating Conjunction
b. Correlative Coordinating Conjunction

1. My brother and sister went to Dammam a. Coordinating Conjunction s J=ll

2. They are both polite and friendly. < b. Correlative Coordinating Conjunction s& Jall

3. I not only like swimming but also diving. «——————b. Correlative Coordinating Conjunction s Jall

4.1like swimming but not diving. a. Coordinating Conjunction s Jall

We can compound/coordinate any level of constituents (grammatical units) - words, phrases and clauses.
Cden e le ¢ S (4 s lan s (6l) S (a5 siana (gl GBansii ol S i LSy
.( constituents — CUSall) amsar (Jeall 5 @l jlall 5 LK) e a8
e Coordination of Words

Coordination can link two or more words of the same word class as in the following examples:

Nouns:

e.g. Football and basketball are my favorite sports.

Adjectives:
e.g. My friend Khaled is funny and intelligent.
Adverbs:
e.g. We must finish our work both quickly and efficiently.
sl Gaeatic
IS S 5 i e ST g1 (i€ Lo i Clial
sl )

Football and basketball are my favorite sports /Jb«

aul > football

(and) Guiall Cilaall G ja (Jlany) Lils
a=! > basketball

-

dda.Y
My friend Khaled is funny and intelligent /J&«
44 >funny

.(and) M‘ Calaall oy (ol Al L
4ia > intelligent

a.alli a.n a.<8 ©
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e gl i
We must finish our work both quickly and efficiently /J&s

Js >quickly

| [(both - and) a3 Galh Cabe Cijay JI Y Ll

J > efficiently

e Coordination of Phrases

Two or more phrases of the same type can also be linked together through coordination as in the

following examples:
Noun Phrases
e.g. The old man and the young boy crossed the street.
Verb Phrases:
e.g. Many of the grammatical terms must be studied and will come in the exam.
Adjective phrases:
e.g. The topics are very interesting and really useful.
Adverbials:
e.g. You can wash your clothes by hand or in the washing machine
1 k) (Banadia
IS ccalanll oy a A (e aa g sill 838 i g ST T i e oy ) i Ll clisall
ran B e
The old man and the young boy crossed the street /J%«
(old) LU L8 Jsxs >The
daaul 3 )be {(The old man) & ball (i ) > old
(old) ol A 32 J3xe > man

(cabe <iya) dayy 3 > and

(young ) ol L8 Jas >the
dsan) 3 e < (the young boy) b=l ol > young
(young ) wsl Ul (5223 Jaxa > boy
1l 5 e Y

Many of the grammatical terms must be studied and will come in the exam /J%e

a.alli a.n a.<8 ©
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(must be studied) < 338ra 41lad dlag Ua Lual*
Type 1 > Modal +Infinitive > must be
Modal > must
Infinitive > be
Type 4 > BE +Past Participle >be studied
BE > be
Past Participle > studied

(u}:ﬂ; u);) L‘L) Blal > and

(will come) < Al skaa Alnd Alay Ui Ly Liyat®
" passive voice" Type 1 > Modal +Infinitive >will come

Modal > will

Infinitive > come

(and) st cale oy Laalihay ) (yidiea (pisdad i sane Loal Lin 13) *
a5 -
The topics are very interesting and really useful /Jta
(very interesting) : (& S9! Lda gl 5 jLali*
"interesting" 4iall & Jsa b5k S Js >very
ddays e
44 > interesting

(<alac o yn) oy 300l > and

(really useful) : A 4 Lda gl 5 Lall*
Ay e "useful" dall 18 Jae a5 sk 5l s >really
4aa > useful
(and) sa s cilae Caas Laaliay ) (pidine (yiifien 5 (ke Lpal La 13 *
143 )k 5 ey
You can wash your clothes by hand or in the washing machine /Ji«
(by hand) : & A% bR 5 Lali
a < >hy
D50 s b le

deul 3,Le > hand

(QLSQP)LQJE\Ji>or

a.allia.n a. <8 ©
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(in the washing machine) : & 450l 438 )1 5 jlall* OH
|
. |
BYSCEWISE N SIS _ _ -
4aul 3 ke > the washing machine )l

|

Okl Gl she Lea 13 s e 05Ss Hspmall 5 el s ke of WA LS LS 5 555m 5 e Ujle LaadS * H

E
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<§’o‘
é’o‘
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|
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|
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|

J
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|

J
£y
|

Compound Sentences .
£y

|

J
£y
- |

148 yall Jaad) |
b O so
|

|
&
|

J
&
|

J
&
|

J
£y
- |

1AaS yall Jaadl )
£y

|

J

3

E
|
q

X

A <A >in

e Coordination of Clauses

A compound sentence has two or more clauses which are linked by a coordinator.

rdaal) Gl

’
B.\SM—LSJA—;\LMJu)ﬁﬁM\ui:\:\.\a)ﬂ\3)}.\”5&%\&4@\4)53\.«5* °‘o‘

- . o“

|

ccabaall Cagpa Al gy agdan s oy ST 5f 58 1 o A8 el Alen) J

o“

|

« All of the clauses in compound sentences are coordinate. In other words, they are of equal rank. H
None of them are dependent on (part of) another clause. They are all independent clauses. H

(O Alia agarend WM 5l (L8 sal OIS 1) (gl ARlih s A8 el Jaal) i "clauses ~Jaalle i jalt ¢ Pl
|

.(equal rank-i sbuia 4 ) S el Jaall 8 Sl aaes (55305 jlas* ]

i

|

(AT 58 (n e 0m ) a8 e Aalie ] (585 il 038 (a5 Y 5% i

(AT e e ST (559 (o AR (585 Ll (5T) Alfsa 5 55 ol i) 038 oan® J
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The following are examples of compound sentences:
1A pall Jaal) e ALl g B ke A
e.g. 1. Everyone was in the room and the doors had been closed.
s¥! 34l > Everyone was in the room
4l 5_al > the doors had been closed
(and) s "ibae Cipa ay )y slaly G Ly
e.g. 2. Everyone was in the room, the doors had been closed and latecomers had to wait outside.
s¥ 5,8l > Everyone was in the room
4,8l 5,3l > the doors had been closed
4l 5 &l > Jatecomers had to wait outside
(Alals) s a5l 5 5 e V) 58 Juad o5 5 (and) s "cilae Caya" Loy 3ol BN 5 A0 5 jE Ly ) W3¢
e.g. 3. Some students didn’t do the homework and the teacher knew, but he didn’t say anything.
&s¥1 54l > Some students didn’t do the homework
4560 3 %@l > the teacher knew
43 34l > he didn’t say anything
3ol Ll Al 5 V5315 jaall Ly 5 o (Aliald) 48 suus (but) oo s "l <aya Loy slaly Q3 5 4600 5 &l Lay ) L3*
5 e Caela Lin AN 5 o 58 casndl (but) cibaad) Ciya 0 Abials 35a 5 s Baadi> (and) b s "cibe Cija" Ly
s U Abealdll o sa 8 il Al 5 Y1 oyl
e.g. 4. Either he didn’t bring the book, or someone took it from him.
s¥) 558 > he didn’t bring the book
4,16 5_adll > someone took it from him
Lo Lagd Cpilaadl () Lganns Ui ALl 5 g g ¢ Alialdy 38 sase (OT) (A5 "cibae o ja" Jay ) Blaly Al (Y 5l Loy ) 3¢
" Either" i€ 3 5n 5 s Ua ALl 35m5 cas ¢f @5 5) il L Lin ALalil) 350 8 "0ntnd 00 i 1" 4 L)
(A=l 45 "causes and effects- il 5 cundl 8 Lg3a] A Clac il apd 1385 = I 5¥) dleall Ll
e.g. 5. I'm selling my car and (I'm) buying a new one.
&Y 58l > 'm selling my car
sl o Lo cads (Saall (e = 4l 53 > (I'm) buying a new one
(and) 45 "ibae Cipa" day sl i by ) W
e.g. 6. Mohammed is going on a trip for a few days, but (he) will be back before Saturday.

¥ 358 > Mohammed is going on a trip for a few days

a.allia.n a. <8 ©
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O sll (g Lo s (Sl (e = 4380 3,80 > (he) will be back before Saturday
. (but) s "cabe Cia" by slaly G D Ly ¥
e.g. 7. He may have received the letter but (he may have) forgotten to reply.
S sall > He may have received the letter
8l o e s cRaall e = 4 3,80 > (he may have) forgotten to reply

. (but) o5 "l Caa" Tay y 3lal (il dayy ¥

 As seen in examples 5, 6 and 7, when the subjects of the two clauses refer to the same person or thing, the
second subject can be deleted. We can also delete the second verbal group if it is the same.

imall 5 Jadll 5 (sl 8l i e o gy VIS 13) 20l 55l (he aghiad o Sanl) (pad il jEll o Jadll 5 Jelill S5 13)*

oileall M1

o2 (8 Alaldll 3 sa s ams (oo ) Can M) die ) Sl | il o Balall o3a 15380 ) AUl (pe el
A0 il pe oS0 g ST o SLE Lad ga g om0 US4 jle ga AV T 5 € &) JUa) 3a) ALY

(sl 5 Gsll

Exercise.

Decide whether the following sentences are:
a. simple sentences b. compound sentences
1. My neighbor and his family are going on a trip.
(they) 4l JSS Jelall Jlaiind Saall (0
aals Jeli Ldali "they" = " My neighbor and his family" o &
asly J=8 > going
they are going on a trip : Jsid

a.simple sentences : OsSw Glsalld aals ded 5 2l 5 Jeli*

2. My neighbor is going on a trip but his family are not going with him.
s¥1 58l > My neighbor is going on a trip
40 3l > his family are not going with him
Jelé his family Jlédlb = Jeld My neighbor : Ua La3
2ebia J2é gre = 2clue Jad [s
J=é not going = J=& going

"but" s (e Cia) a8l ik e 8 Ll Ua T3 Jad e ST 5 Jeld (e ST
b. compound sentences : s <lsall ;Ko

a.allia.n a. <8 ©
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3. Either I lost my wallet or someone stole it.
Ss¥) 558 > [ lost my wallet
a1l 5 yadll > someone stole it
Jeld someone Jiliadh = Jela ] ; Lia Iaa30
J=é stole = J=iLost

"or" sas (<ahae Caja) da sl il ye 5 Laal Ua 1) Jxd (e ST 5 Jeld e S
b. compound sentences : s <lsall G Sund

4., The wallet was either lost or stolen.
Jeld > The wallet
Oaad > stolen s lost

a. simple sentences : s& Jall () S Jad e S0 5 anly Jeli Ll L 13)

Ol ol (e el Amnd) Alaa) Lal (5 slasia IS Jad o ST 5 Jeld o ST L a2 53 03V &Sl daad) (o) DAY *
O OSaall (a5 oaal 5 alen iiay Lia > 22 g Jad agaany (S15 Jold (a JiST saie ()5S il i) (g sl 138 Juany
(dass oan) 5 Alanll Hiias Liayl Lin > Jad e JAST A3 095 3a) g Je B f "they" o8 5 oaal 5 4alS Can Jelb (e JiST aans

Exercise :

Decide whether the subject in the second clause is:

a. Optional (can be deleted) (L~ oSa) L)Lid) b, Obligatory (cannot be deleted) (83 ¢S ¥) 4l )

1. My neighbor is going on a trip and his family are going with him too.
Jeld > My neighbor
Al delé > his family
b. Obligatory (cannot be deleted) 158 < sal) 13) ¢ Lavaal cada (Say ¥ 5 liliag
2. My neighbor is going on a trip and he will take his family with him.
Jeld > My neighbor
"(My neighbor) Jdeldll i e 350y yaa 2" Jelé > he

a. Optional (can be deleted) :ss wlsall 13 ¢ Laaaal Cada ¢Say 5 oledbiia

3. Sara will study hard for the exam, and she will try to get high grades.
Jeld > Sara
"(Sara) delll (udi o dgmy e " Jeld > she

a. Optional (can be deleted) :s» wlsall 13 ¢ Laaaal Cada ¢Sar 5 ¢ledbiia

a.alli a.n a.<8 ©
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4. Sara will study hard for the exam, and Maha will do the same.

Jdeld > Sara

Al deld > Maha

b. Obligatory (cannot be deleted) : s <l sall 13 ¢ Laaoal Cada e ¥ 5 clilids

Lecture 12

Subordination Gl

Subordination:

In Lecture 1 we said that sentences can be divided into simple, compound and complex
sentences. We discussed simple sentences in detail in previous lectures, especially Lecture 10,
and compound sentences in Lecture 11. In this lecture, we will discuss complex sentences.

A complex sentence has two or more clauses joined by a subordinating conjunction. At least one

of the clauses is subordinate to a main clause.

A main clause (also known as an independent clause) is a clause that can stand alone as

d complete sentence.

A subordinate clause (also known as a dependent clause) is a clause that cannot stand alone as a complete

sentence.

saadl) Jand

ke Jon 5 S je don oy e 1) Lpasndi (e ol of LB 1901 5 pumlaall 3

5 plaall g A8 el Jaall L3l 5 65 plall 5 juinlaall b La sl A8 il jualaall 3 Jaaiils dasd) Jasll Ll

(48554 A Calae Cag a JMA (e pgaiaan (sl e (two clauses or more — ST o i) e s

saiaall Jaall 5 junlaall i & (il s e Lalal)

(one clause — saal g “SJBB) L_Q:. ng.\aﬁ :M\ M!

sind 1 pal) Alaal)

e Calae Caga DA (e agamnn (e 3 (two clauses or more — ST 5l o 8) e (s siad rBainal) dlaad)

oy ) (clause) 3_3dll 2= el g 68
Y (one clause — saal 53 ,3) ddawas simple

Coordinating Conjunctions :J3& (s
Correlative Coordinating Conjunctions
(A N0 i Calac iy pa — agiadi Calae i a)

(two clauses or more — I sl (5 i)

i< » compound

Subordinating Conjunctions :J3& ¢
Correlative Subordinating Conjunctions
(4 5Mia agasi Cahae oy a — agadi Calae (a5 5a)

(two clauses or more — I 5l (5 i)

53320 complex

(Fala¥1 538 e a8 O o) bl 5,588 e dgalaie) ¢ 65 o (ol a3 0585 <l il o3 saa) JEYI e *
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e adias 155l a5 (independent clause - i) 5 58l)) Ly 55 :(main clause - dsabad) 5 adl)*
s Al Lo

Y 58l a5 (dependent clause - dnlic¥) 5 5aill) Layf e 55 :(subordinate clause - 4 5 ill)*
Aliae s L e 2

« A clause can be subordinate by being able to do one of the following:
Al eLdY) saa) Jee aadaid of A e (4pill) o e o 5 _El o Sa
1.replace an NP in the main clause

e.g. Everyone could see it.

Everyone could see (that) he was frightened.

The subordinate clause “that he was frightened” is a noun clause. It functions as the object of the verb “see”.
2 Al 588N 8 dra) 3 jladl Jlagial-)
Everyone could see it /J%s
. (see) dadll Jsria 58 5a0en) 3 ke 585 pen > it
Aliall gl 5 ) e dpslaie] a5 4l 3,58 > ((that) he was frightened) = < allag
J=dll > see
et o adiad dlilue 4les > Everyone could see
(see) dxill Jsmie & L Lgiila g5 Laanl dea 4 " that he was frightened” 4kl alaal) 13 *
2. modify an NP in the main clause
e.g. loftensee my old school friends.

I often see friends who were at school with me.

The subordinate clause “who were at school with me” is called a relative clause.
[t functions as a modifier of the NP “friends”.

s Al 588N 8 dpan) 5 lad) Jamia ¥
[ often see my old school friends /s
. (my old school friends) 4slxdll 3 lall (i1 g8 5 dsaul 3 ke > friends
. " friends" < Gl 408 <Yasa agzien > my + old + school

e Y (clause — 5,8) g s s Akl Ve S 038 agil (Sedl (pa*
. " friends" usi,l Jexdl (subordinate clause - &5 5 i) alaiiul Sadl e 13)

Alitall Lpulu) 5 jal e dplaie) a5 4all 5,58 > (who were at school with me) = “my old school" < Waiul*

.(main clause - &bl 3 ,8) a5 Uit dlea ,» > (I often see friends) 13*

a.allia.n a. <8 ©
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| Adpll dleal) gl 4 gum sall Aleally o33 " who were at school with me" 4=l dleall T3

(subordinate clause) 4licl 4lea 4 > (who were at school with me)

Mriends” o) J35 5 ) 5l s Ua dualaieY) dleal)

S friends"” Zae¥) 3 jlall Janad Ua Lgididn 5

3. replace an adverbial in the main clause

e.g.

I met Ahmed twenty years ago.

I met Ahmed when [ was at school.

H functions as an adjunct in the main clause “I met Ahmed.”

2 Al B8AN & i g plal Jladu- Y

I met Ahmed twenty years ago /J%

ol ge sk > twenty years ago

4l 3 ke > (when [ was at school) = < sl

Lebia ey 6 a2 a

ﬂ% The subordinate clause “when [ was at school” is an adverbial clause of time. It

" Tmet Ahmed" Aamld) dloall (i U Uil gy gla3l) G 485 Aes & " when [ was at school" 4l dleal

Aid 4 Jiilall g g 4 Jailal) 4s 50 g Jailal) Jand)
"see” Jadll Jgmie | " il sl o galaie)-Aan 5 i that he was " e dran) 5 o> it L) 5yl Jladicd)
"Everyone could see frightened see it Al oo AanloY) 5 8l &
AaanY) 5 5lall Jana "AlEal) 3yl e galais ) Al dlaa who were at 4eul 3 ke>my old school ¥ 8 lal) Jlaind
" friends" "I often see friends school with me my old school friends Al 0 Al s ull 4
Gaul) 3yl 4l S gl -l e 4l dlea when [ was at k> twenty years ago o Rl Jlaial
"I met Ahmed" "I met Ahmed"4iusll 5 il school Laulu) 5 e

I a.allia.n a. <8 ©

A subordinate clause is usually introduced by one of the following:

1. a subordinating conjunction,

2.arelative pronoun,  e.g.

when or that

who, which, whose

LN LY san) A Cpe gl Bale Aualaie ) B jaal

that s when :dslaieY) cilaal) Ciga -

whose s which 5l who 14 s sall gf L) yilaal) - ¥

Compare:

1. a. He was frightened. (Independent Clause)

1. b. that he was frightened (Subordinate/Dependent Clause)

2.a. I was at school. (Independent Clause)

2.b. when I was at school (Subordinate/Dependent Clause)
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Examples “1.a” and “2.a” are independent clauses. They are complete sentences by themselves.

Examples “1.b” and “2.b” are subordinate clauses. They are not complete sentences on their own.
A main clause must be added to “1.b” and “2.b” if we want to make a complete sentence from

them.

40 )\8a

PP (DGl jadl

Jual) 2

LAl AlEiiee Alaa- He was frightened
(A 5 )

1.a.

Al e dalaie) dlase
_(l_pl..«fm\ 3)35)—
:\AU:\_\AA@A}L@AQ _\A'.\:ﬂ@uu\o‘)sﬂuﬂc\j;j_

that he was frightened

1.b.

LAl Aldtie dlea- I was at school
(e )

Aal e dpalaic) dlaaa
_(l_pl..«fm\ 3)35)—
:\AU:\_\AA@A}L@AQ _\A'.\:ﬂ@uu\o‘)sﬂuﬂc\j;j_

when I was at school

2.b.

Exercise:
Decide whether the underlined clause is:
a.dependent  b.independent

1. It was obvious to everyone that he wanted to leave.

dleall ¢35 5 "that he wanted to leave":Js& of aphin ¥ "that" 4aX 25 s 1aa3G > that he wanted to leave

b.independent : s& ol sl thualaic) dles & 13 Al 53aia ye Alan ot LY

2. He wanted to leave and this was obvious to everyone.

dleall ¢4 5 "He wanted to leave":J s of aahins (Uiive el sf) ualaie] je laa o2 > He wanted to leave

a.dependent : s& < sl \J\ ¢4l 5 Bk Alan rualin Y

3. My friends came to visit me when I was in Dammam.

=¢5 5 "when [ was in Dammam":Js& o} axkivs ¥ "when " e 2 a5 a3l > when [ was in Dammam

b.independent : s il sall 5 i) Alaa o 13 Ladli 53080 e Ales aain @Y dleall

4. My friends came to visit me, but ] was in Dammam.

eall ¢ 5 "I was in Dammam "5 O gebivd (Aiiue Leif gl) Lalaie) e dles 38 > [ was in Dammam

a.dependent : s& <yl \J\ A4l 5 Bade Alan ruain Yy

Types of Subordinate Clauses :
1. Noun Clauses
2. Relative Clauses
3. Adverbial Clauses

4. Other (Conditional Clauses, Result Clauses, Purpose Clauses... etc.)

a.allia.n a. <8 ©
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: Laldiey) Jaal) g g

Laand) Jaall-)
A g gall ol Aanail) Jaall-¥
FERATI R
&b i) Jeall-Conditional Clauses < s _al-¢
daiiiaa) 5l a3l Jeall-Result Clauses
a2l daledl Jeal-Purpose Clauses
434l Jeal-Comparison clause
4l Jaall -Reason clause
We will take a look at each of these types in the following sections starting with noun clauses.
e deall T dy Nl adll o) a1 03 (ge JS o 5k il
Noun Clauses
Noun Clauses :

We can divide noun clauses into that-clauses and wh-clauses. A that-clause begins with “that” and

a wh-clause begins with a wh-question word, e.g. what, who.
LyansY!) Aleall
"that 4l Jea" that-clause ALYL Lalk > wh J Jea" wh-clauses
(that) = fas A. That-clauses What-Who /Jis (wh- question ) <ilalS fas

A that-clause can have four of the functions of the NP. It can be:

:That J Jaa -
(05853 ¢ NP daan¥) 3 lall e ey £ 8 0685 O faall (1
1. Subject of a Verb in another clause
e.g. That the driver could not control his car is obvious.

(=Itis obvious.)

Note: “That” is obligatory in this sentence. We cannot delete it.

p oAl Uaa b Jadll faisa of Jo B/
That the driver could not control his car is obvious /Ji«
Itis obvious ="It" el Ledlagul gkaini ¢ Jeld > That the driver could not control his car
dad > s

ils&s > obvious

a.allia.n a. <8 ©
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H Jeld Cels "It is obvious"iles & (It) dalS**

I . ledda liSa Y dleall A ( obligatory— 4wl 3ll) < (That) 2 Ua- ;s pale*

H . (That) % ¢ 5% (the driver could not control his car is obvious) :J s g ¥*
i 2. Object of a Verb in another clause

e.g. Everyone could see (that) he was frightened. (=Everyone could see it.)

U% Note: “That” is optional in this sentence. We can delete it.
i DA Aax (b Jadll J gadaf ¥

Everyone could see (that) he was frightened /J%-

Uo Jdeld > Everyone

[

\T 2 Le J2é Modal > could
S Jad > see

Everyone could see it = (jit) ssaall allainl (Sadll 0 5 ¢"see” Jadll J2ée > (that) he was frightened

i Ssee" Jadll Jsada cela ™ Everyone could see it" des 8 (it) LalS**

Ledda iy dlaal) 4 )Lad) “That” 4alS a- ;48 sale*
Everyone could see he was frightened < st laall (o leds aodaivi-
3. Complement of Subject +BE
e.g. The truth is (that) he was very shy. (= The truth is this.)
Note: “That” is optional in this sentence. We can delete it.

A0 5Lkl Jad o+ faiall gf Jeldll Alaga/Y
The truth is (that) he was very shy /J%«
i5i > The truth
Lk J=8 > s
The truth is this =(this) LY aul Allasinl (Saall (g5 ¢ 435380 Jail 5 Iviall 2L > (that) he was very shy
L LSy dlaal) 4y Ls) < (that) 4lS La- ;48 sale*

The truth is he was very shy < zuai ileall (e Lgdda aulaiui-

4. Apposition (to nouns like “fact”, “truth”, “explanation”)

} e.g. The fact that he was shy surprised me.

“That he was shy” is an appositive noun clause that refers to the same thing as the NP “the fact”.
We say that the noun clause is in apposition to the NP.

Note: “That” can sometimes be deleted in this case.

I a.allia.n a. <8 ©
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1l /¢
. explanation — truth — fact /Jie ¢ slaw¥l i
The fact that he was shy surprised me /Jt«

daeul 3 e > The fact

. AaanY) Jaall g1 il s2a) (That-clause)) ¢ 3% 4 5 ~> "Noun clause” 4esl s 4~ > that he was shy

Aoalaic]) 5 ye-
Ja-

. (The fact) 4eu¥) 5 lall J s (that he was shy) Of 1J 8 ¢ Jinall (i Legd LaadIS-

835a 50 ST Bale (S0 ANA) oda 8 Aleadl (pe 032 G (Sl (e (that) Al Glal) pan o 4 gala*

The fact he was shy surprised me < zu=i
Reported Speech:
Reported speech can be either direct or indirect.
1 silal) lladl)

ila s gl e ()5S0 8 skl il

a. Direct speech is quoting the actual words spoken by someone. In this case, we write the

quoted sentence between guotation marks (“”).
e aa (e (L Linaial) A3 Zdl o)) lalSU Wl e 5 e s 1 pdbal) cilladd) (i

(7)) 52 LY Adle (pn AL Aleal) S (sl 020 B

b. Indirect speech is restating the words spoken by someone. We can use a “that-clause” to

report indirect speech.
el e (L Liaias) 253250 LU a2 lua sale) e 55k o 1 ki ) Gidadd) (o
(42 samal) LS A lia U yie LY QLY dadle axdias o) () 5y LeiSs cllal) o3a b
e et w8 (That-clause) pldiul LiSe; ¢dllall oda
e.g. The man says, “The road is closed.” (direct speech using quotation marks)
The man says (that) the road is closed. (indirect speech using a that-clause)
Aaié ul g8 Laraiul ¢ pdilaa QUad > The man says, “The road is closed” /d%e
Lé"that" A Ladin) « pdils & QUad > The man says (that) the road is closed
B. Wh-clauses
A wh-clause can have four of the functions of an NP. It can be:
:(Wh-) 4 Jea -

1058528 ¢ NP Apan¥) 5 lall g il £ b 05S5 O (Sl

a.allia.n a. <y ©
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1. Subject of another clause
e.g. What caused the accident is a complete mystery. (= It is a complete mystery.)
14l Alaad Jold /)
What caused the accident is a complete mystery /J&«
It is a complete mystery="It" szl dllaiul (Ko 5 <Ixie > What caused the accident
Jad > s
2. Object of a verb in another clause
No one knows what caused the accident. (= No one knows it.)
1A ey (8 Jadll Jgada /Y
No one knows what caused the accident /Ji«
Jeli > No one

Jdad > knows

No one knows it =(it) _seall dllagul (Saall (e 5 ¢" knows" J=ill Js=is > what caused the accident

3. Complement of Subject +BE
The question is what caused the accident. (=The question is this.)
A gkl Jad o+ fuipall gf Jolill AlegafY
The question is what caused the accident /Ji«
Iz > The question
LK Jad > s

((this) 3LV anls Lelain) (Sad) a5 ¢ 4355S0 Jadl g fxisall 4&a > what caused the accident
The question is this <gu<i

4. Object of a preposition
This depends on what you want. (=This depends on it.)
1ol dijal Jgrda [t
This depends on what you want /Jts
Jeld > This
J=é > depends
A A >0n

This depends on it =(it) swall dlaiul WiSey 5 ¢ (on) Lall < sl J =i > what you want

a.allia.n a. <8 ©
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Exercise:

What is the function of the underlined clause?

a. subject b. object c. complement d. appositive

1. The fact is that no one could do it.

deld > The fact
S+V (Be)
518 Jad > is

. il JLSY dlaall d age L sa s 0¥ ¢ 4Sa > that no one could do it

c. complement : sa <l sl 13
2. What he discovered was important for science.
deld > What he discovered
451K Jad > was
a. subject 1 s sl 13)

3. The fact that no one could do it disappointed me.

(%en) 5e) Jeld > The fact
(3xenl ea) Ju > that no one could do it
d. appositive ; s <l sall 13

4. Everyone knows that he made a great discovery.

Jelé > Everyone
J=é > knows
"knows" J=ill J =4 > that he made a great discovery
b. object : s& <l sl 13)
5. The workers rely on what the manager has to say.

><a> on Jda > rely Jelé > The workers
(on) all s sl J 5246 > what the manager has to say

b. object 1 s <l sall 13}

a.allia.n a. <8 ©
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Lecture 13

Relative Clauses
Relative Clauses:
In Lecture 12, we discussed subordination and the types of subordinate clauses. We talked in detail

about the first type of subordinate clauses: noun clauses. In this lecture, we will cover other types of
subordinate clauses in more detail.

tAdl) Jand)
Adrgll Jaall ¢l g el LI ¢ e AU 5 pualaall b
Aas¥) deaall : 43egll Jaall Js¥1 g 5l e Jauaiilly Lhaas
- S Jiady 43adl) Jaall 5 2 15391 asia 65 pualaall 038

2. Relative Clauses

A relative clause is a clause which mainly modifies a noun phrase. It usually begins

» o«

with a relative pronoun: “who”, “whom”, “whose”, “which” and “that”.
e.g. 1. The car which he owns is very old.
(The car is very old. He owns the car.)

Sometimes the relative pronoun can be deleted (zero relative pronoun), but it still
exists as a grammatical position in the clause.

e.g. 2. The car he owns is very old.

In example 1, the relative pronoun “which” is the object of the verb “owns”. Similarly, in
example 2, the zero relative pronoun is the object of the verb “owns”.

p 4l Jaad) g1 gl g
tAddl) Jandl-¥

a1 B el il IS ot ) Jeal 0
oald alaiiul 4 el s34 e JS who, whom, whose, which, that 2 &l jilacally Jeal) o34 fas dale

The car which he owns is very old /) J%«

o ik s dleall o3a 5 (which) s s aaiieall Lol jaeuall 5 20 5 )8 Lee 53 4325 Ao & > which he owns
. (owns) J=ill Js2in 2 (Which) ssecall &bl e slaa Lithe | g8 ¢(car) il Adas

b a0 i saS 1o sa sa i (K15 «(zero relative pronoun)e e 5 <iisg 8 Ll pecall ¥l (e 4%
Alaall

The car he owns is very old /YJ&«

Ua Lol el 5 (zero relative pronoun) = b Gaaill ianall 5 43 dlea Lge 53 4320 e (& > he owns
S owns" Jxéll Js2ée 58

a.allia.n a. <8 ©
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The relative pronoun points back to the head of the noun phrase modified by the relative clause.
The head of the NP is called the antecedent of the relative pronoun.

e.g. The man who called us yesterday has come to meet you. (the pronoun “who” points back to
the head of the NP “man”. “Man” in this sentence is called an antecedent.)

anadll jileall (paildd) aixll-antecedent) ) g Gaatia NI
sl 58 JMA e i A Apan¥1 5 jlall Gl S ) iy cesil) ppaniall-
‘_,,_u.d‘ Jtaall ( antecedent 'FM\ «.}“‘)”)45“'-‘-’ L) 3 lall u.ubl\-

The man who called us yesterday has come to meet you /Jte

. Jelil@ha g 5 el 5 e > The man
(Who) il jesall (antecedent -paiie ul ) ) s 5 (The man) 4ew¥) 5 lall Gl ) 9 > man
.(man) Jeldll s Liids g 5 daand dlea & > who called us yesterday
Sman” oDV ) ss (who) 13 <" man” s 4 pdial il 5 e s > who
¢ The Use of Relative Pronouns:
A. Personal Relative Pronouns
The personal relative pronouns “who” and “whom” are used with human antecedents.

e.g. 1.There is a man outside who wants to see you. (There is a man outside. The man wants to see you.)

e.g. 2.Ahmed, who/whom [ told you about yesterday, is here. (Ahmed is here. [ told you about

Ahmed yesterday.)
Faan) & Jlal) e 2a)) ae (antecedents — deiall jualiall) (o 3aal) ge p2idied of (S Al ilesall (e el DU Lask
addl) Al il -
.(human antecedents -gbus¥! ) & Gl dasiiall jaliall) ae a22iii e & (Whom - who)
There is a man outside who wants to see you /YJis

¢ gt (G jady paiie paie 8 "man”s "man” e 252 < who
There is a man outside. The man wants to see you : zeail dlaall s38 Juad Koy 5

Ahmed, who/whom I told you about yesterday, is here /YJi«

¢ bl () Ol el (leatia O paic Laa s "Ahmed" e 1292 < who/whom
Ahmed is here. I told you about Ahmed yesterday : zrail dlaall s3a Juad (Say

Ahmed, who/whom I told you about yesterday, is here*
. s3iaall Alanll 3 Jeli sla (Ahmed) 4elS La
Ahmed is here. I told you about Ahmed yesterday*

Alaiial) Alaal i 42 J peia ols (Ahmed) 4 Ua

a.allia.n a. <8 ©
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B. Non-Personal Relative Pronouns

The non-personal relative pronoun “which” is used to talk about animals, objects, places, ideas...
etc.

e.g. Iwanta watch which is waterproof.
toadd il ) padall e
(st 36 e adl l) &)Y 5 8LV 5 oLV 5 Gl gl ae p2iiey ysas 54 (which)
I want a watch which is waterproof /Jts

«( animals, objects, places, ideas... etc) = Jx "watch" 5 "watch" e 252 < which
(which) il jrecall axiia yaie 4 " watch"-

C. Personal and Non-Personal Relative Pronouns
The relative pronouns “that” and “whose” are used with both personal and non-personal antecedents.
e.g. 1.There is the driver that was speeding. (“that” used with the personal antecedent “driver”)

e.g. 2.There is the car that was speeding. (“that” used with the non-personal antecedent “car”

s dadd i) g duaddd) Al jiladalioa

&bl gl 2 s human antecedents -gbady) A add Al dediall paliall) ae adiud yleca 4 (wWhose - that)
(LS8 5 SLY) 5 lusY)

There is the driver that was speeding /) Jts
43 ilea > that was speeding
[(driver) s pafial) jpaiall 138 (LYl ) jody padd piile jaie g slieddiul 5 o pea > that
There is the car that was speeding /YJt«
4w dles > that was speeding
(car) s» pid) jaiall 138 ¢ adl e adie paie geelieddinl 5 oud pea > that

Note: “Whose” gives the idea of possession.

e.g. 1. The man whose car you borrowed wants to see you.
(The man wants to see you. You borrowed his car.)

e.g. 2. We saw the castle whose walls were made of rocks.
(We saw the castle. Its walls were made of rock.)

{(whose) (!l el oo A3 gale*
.(Whose) il jaanall a0 (pza guiay e sl Ga i 13

The man whose car you borrowed wants to see you /) J&

a.allia.n a. <8 ©
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4% des > whose car you borrowed
(=i e > whose
.(Whose) il janll adile paic g > man
e gy > (Jall a5 ld) () e 588 sl Y Lin " Whose" Leasial-
+J s siaal) Alaald) Jusd Ll 13-
The man wants to see you. You borrowed his car.
We saw the castle whose walls were made of rocks /YJte
43 il > whose walls were made of rocks
(s e > whose
(Whose) il jaall adiia juaic s > castle
(e gy > (aal) (e de gims 2Bl ) jas o) e 588 slae Y U " Whose" Lediiul-
1 o8 Babaal) Alaall (Jad Lia i 13)-

We saw the castle. Its walls were made of rock.

thaga daglaa*
Aleal) 8 il paall Jae sa Lo apaad Cang Al 38 Jiad Jal) ie -
a1 5l Gl S ALea) 8 A5G (€5 Tadls dyal) AleallY
e olaiuY) Say g aleall (B3 55 e Asul) Aleal) 13)-¥

«In the following section, we will talk about the third type of subordinate clauses: adverbial
clauses.

LAl Jaall s el Jeall e GG & gl ge Giaadio ¢ G audll 8

Exercise.

Which of the subordinate clauses in each of the following sentences is a relative clause?
a. relative clauseb. not a relative clause
1. The machine which makes plastic bottles is broken.

43xa giaiks s > which makes plastic bottles
el e adile paice > machine

@kl Wasa s Y"which makes plastic bottles"ileall o3 e sliaiu¥) Say T3*
(Aleal ina (e il Y Lalitda 13) 5f)

a. relative clause : s sl

a.allia.n a. <8 ©
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2. The manager is upset about what the worker told him.

dleSa Wisla s > what the worker told him
Jeld > manager

@ la) Wasa s o¥"what the worker told him"iles)) sda ge laiu¥) oSay ¥ 13*
(Aleall Jine (e it lalids 13) )

b. not a relative clause ; s <l sall

3. The problem is that he didn't oil the machine.

ileSa L s > that he didn’t oil the machine
l4is > problem

sl Lasa s (¥"that he didn’t oil the machine"aleall s3a oo slixiu¥1 Koy Y T3
(Aleall ine (e it Lalidda 13) )

b. not a relative clause : s sl

4. The worker that forgot to oil the machine is speaking with the manager.

U3aa g3iiks s > that forgot to oil the machine
(add pe aMi paie > machine

ksl Lasa s (Y"that forgot to oil the machine"ieal) sda ge Lzl Koy 13
(Wand) ixa (o i Y Walidds 13 (51)

a. relative clause : s sl

5. They called a technician who could fix the machine.

U3sa Lgiads s > who could fix the machine
Oyl ) gpds oadd adiie paic > technician

@) Lo s (¥"who could fix the machine"ieall s3a ce slixin) ¢Say 131*
(AL e (pe B Y Lalisda 13 1)

a. relative clause : s sl

Adverbial Clauses
3. Adverbial Clauses:
Similar to adverbs and adverb phrases, adverbial clauses allow us to talk about time, place and manner.
p Ad ) Alead) ¥
L) 5l s OS5 el e s Ul mans Al Jasll ¢ Lol 28I < jlall 5 oyl sl g sl 138
e.g. I met Ahmed in 2005. (adverbial phrase of time)

I met Ahmed when I was travelling. (adverbial clause of time.)

a.allia.n a. <8 ©
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He parked his car here. (adverb of place)

He parked his car where there is a parking sign. (adverbial clause of place)

He drives carefully. (adverb of manner)
He drives as his father did. (adverbial clause of manner)
I met Ahmed in 2005 */Js
el e W A a5 ke o2 > §n 2005
I met Ahmed when I was travelling *
(&b 2 5) Ol e Ll 4 )k Ales e 5 ¢4320 Alea & > when [ was travelling
He parked his car here *
Ol e Uls 3 1 3 5be & > here
He parked his car where there is a parking sign *

(&8 2 ) Ol o Ll A4 s Ales tlge ¢ ¢0a0 Aaa & > where there is a parking sign

He drives carefully *
Cdsle o Gl e Wy Js Gk e > carefully
He drives as his father did *
(&5 A s) Al sl slul e Wi 4 )k dlas tlge 5 $40asi Alas & > as his father did

»n «

Note: The words “when”, “where” and “as” in the previous sentences
are subordinate conjunctions.

A Cale Cagya e 8)ke ALl Jeall 8 "when- where- as "SlS) il Lot

Adverbial clauses also have functions similar to adverbs and adverb phrases.
For example, the adverbial clause in the following sentence is an adjunct:

e.g. Imet Ahmed when [ was travelling. (The adverbial clause “when [ was travelling” is an adjunct.)

MMtk 5 A Alaadl (8 Q) Alead) /e A RN <l L) 5 o plall A il 5 Lgpal 4 ) Jead)
I met Ahmed when | was travelling
(&) eidda 5 43 5k 0 dles > when [ was travelling
Compare: I met Ahmed in 2005. (The adverbial phrase “in 2005” is an adjunct.)
s 45 laa
I met Ahmed in 2005

0 s cgla ) e Wi 4,08 5Le 4 > in 2005
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« In the next section, we will look briefly at examples of some other types of subordinate adverbial clauses.

Al el Jaall 5 a0 ) sV (and Al e jlaialy s ks il ¢ ) audl) 8¢

Other Adverbial
Subordinate Clauses

Other Adverbial Subordinate Clauses :
4. Other Adverbial Subordinate Clauses

Please return my book if you finish reading it. (Conditional Clause)

Ahmed is quicker than [ am. (Comparison Clause)

I couldn’t open the door because I used the wrong key. (Reason Clause)

He closed the windows so that he wouldn'’t hear the noise outside. (Purpose Clause)
s A1 R Bt o
1 A Al At Jan -t
(if) > : Conditional Clause - kb &) dlaal)-)

Please return my book if you finish reading it /Jts ¢ 4l Coay

(than) > : Comparison Clause - (dxzdill) 4luaiil) dlaal)¥
Ahmed is quicker than [ am /J%s ¢ el o 45 )
(because) > : Reason Clause - (4uadl) dsdhaiall dlaal). v
[ couldn’t open the door because I used the wrong key /Jis ¢ L e 8 dee s a3
(so that) > : Purpose Clause - 4ua ! dlaal)-¢
He closed the windows so that he wouldn’t hear the noise outside /J&«
143 gale*
1 AY) A Y Lal) Jaad) g 48 B Jaadl-
" subordinate conjunctions "4l calall iy a8 o8 _SWhen, where, as-

if, than, because, so that-

Jlx) dliadia 5 dliatae 4y plai¥l Aalll 8 Wl GlXS ¢ dladia g dliaie yilaa Ay pal) Ll 8 Wl (68 j23 WS Adaadl, **
(V%] L).ul.u\ e Ba Lgia yd ul (M‘ iaaddll ylazall lxe " Personal Relative Pronouns"alaial jlall e

a8l Al el
. A goa sall Jaadl 5l &3l Jaall lalies (Relative Clauses) of o

L eellGaAl WSk :
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